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Question Number : 1 Question Id : 7512365601 Question Type : MCQ Option Shu@ Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Classification 1s grouping into catefOwes based on observed characters
and the categories are referred as tajlpn

Reason (R):  Taxa are unbiased and indigtige of categories at different levels in
classification. c’

Fgpg (A): 30860 wod BB georo erdom Pirred ST airoonT
@dd 0 PO LIET)0 Bodrd.

sdwmo (R): 5685 3?@.@@@* remes ARETE o0 $00050 BIrErOss
o 8 0.

The cormrect answer 1s:
DOGDS HBorgrddon:

Options :

Both (A) and (R) are true. (R) 1s the correct explanation of (A).

. (A) 3005w (R) eo Bodr $85032. (A)S (R) D0G0S Jd58¢ee.

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
s (A) 508050 (R) oo Sodr 05080, 50 (A)S (R) S65808 &8 5.
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(A) 1s true but (R) 1s false.
| (A)%ogie, 52 R) 505080 .

(A) 1s false but (R) 1s true.

(A) S83038 5280, 57 (R) So5036.
4.

Question Number : 2 Question Id : 7512365602 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following lists :

List-1 List-1I
A) Asexual I) Fusion of protoplasms between two motile or
non-motile gametes
B) Karyogamy II) Reproduction & oospores. ascospores and
basidiospore
C) Meiosis IMM) ReproductiQiiby spore called conidia.
ZOOSPOIES, [§pOorangiospores
D) Plasmogamy IV) Fusi two nucle1
V) Wigfresulting in haploid spores
& (§od HGBod 28ErG0a. $
588 -1 Q, 58% -1
A) e3on& @ D Tok Sos So Sossirs
« SoBridere Sy LIVTTO Soons
B) 3o Sod@>iio ) A/Aesd ibcg@a?e.:. s, FDo,

BodBrRhe TG0 REgSHE

C) Eosle a9 III) &&csre, KOS ?océi)zs“‘e.:*
THYC0ERrTDO T0° RSgES

D) 23T To Dodirio IV) 3odk Sogs e dodriKo

V) Q888 Bods dEderes doosngdzo

5008 AYEL0

The correct match i1s:

Q0GOS d:

Options :
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Question Number : 3 Question Id : 7512365603 Question Type : MCQ Option S ing : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Q
Match the following lists :
List-1 & List - 11
A)  Gaspard Bauhin «' Crystallization of the enzyme urease
B) Sexual reproduction in plants é&]ﬁ Robert Hooke
C) J.B. Sumner ) Camerarius
D) Micrographia Q/ IV) Introduced binomial nomenclature
& 808 Dol aés&rdﬁﬁ
D83 -1 w38 - 11
A) T TS ) cSor80E doBaos Eéaéﬁééﬁozﬁéao
B) 3Joo5,0S" SohE &8 I) o8 508
C) 38 3506 ) 535080590
V)

D) 3o oo BT TG PaTwLwdod

The correct match 1s:
58@(‘6 23¢8:

Options :
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Question Number : 4 Question Id : 7512365604 Question Type : MCQ Option Swg : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Gametophyte 1s represented by lled or many celled stage called
diplo-haplontic life cycle.
Reason (R):  Pteridophytes and all seed ¢ plants follow diplo-haplontic life cycle

pattern. !

Jgpg (A): LodBrHE Do ??ﬁ”@ Segen E0R0HM o8 &50030 bé%&é Bes
Do e BD .

w0 (R): o per Oasn AETrod SOAS wQ) I o dﬂgoﬁo-iﬁlg?gﬁé
EI8 JF I5°Q) ©20Jow.

The correct answer 1s:

QOGN SJrrIS:
Options :

Both (A) and (R) are true. (R) 1s the correct explanation of (A).
(A) 508050 (R) eo Sodr 30g0850. (R) 038 (A)Se 05008 8w,
1.

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
, (A)So0a50 (R) v Bods 200, 50 (R) @38 (A)S JBS IS8 5780,
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(A) 1s true but (R) 1s false.
. (A) 385058, 52 (R) 3653058 5°6%.

(A) 1s false but (R) 1s true.
; (A) S8338 57, 5°0 (R) 833036,

Question Number : 5 Question Id : 7512365605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The pigment chlorophyll 'C' 1s present in
L  Dictvota

Il  Ulothrix

M. Porphvra

IV.  Sargassum

N
P BSgo ETRS 'C i) ‘»Q

I B8crir A
I awads OQ,
Il &70 é

The correct combination is&

200N Soows:
Options :

LI
1.

LIV
25

. ILII

L ILIV

Question Number : 6 Question Id : 7512365606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
collegedumas
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Assertion (A) : Tap roots of sweet potato become swollen to perform functions other

than absorption and conduction of water.
Reason (R):  Roots m some plants are modified for storage of food.

Tgmg (A): DoREH0HS’ SOBKH ), Fham 200050 S 6T sHor 2Ss

QOO VG RO,

820 (R): £ InFHos” 3N SFEITTOR RecBoido §ds drroddo

Do 0.

The correct answer 1s:

HOG0H SEFTEB0:

Options :

Both (A) and (R) are true. (R) 1s the correct explan)& of (A).
(A) 58050 (R) en Bodr 583305, (A)So ( B0 DHeo.

I &
Both (A) and (R) are true but (R) 1s no rrect explanation of (A).
(A) So805x (R) o0 Bodor $68308 (A)s0 (R) S6508 D58k 5.

(A) 1s true but (R) 1s false. Q/

, (A)degss, 52 (R) mq& 5 E0.

2

(A) 1s false but (R) 1s true.

, (Q)egese v, 3 (R) 985088,

Question Number : 7 Question Id : 7512365607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Match the features given in List - I with the groups present in List - IT.

List-1
A) Pulvinus
B) Cladophylls
C) Cyathium

D) Head mnflorescence

List-1I
I) Legumes
II) Euphorbiaceae
) Asparagus
IV) Tridax
V) Cucumber

588-1 ° ayd oo, HPE-II &* &8 HENTSres 2E8r8)0s.

*’52§§S -]

A) Soyrod JHigado

B) s&0Se
0) $SrBaHSo

D) 3838 YdSgdo

The correct match 1s:

Q00N 2.
Options :
A B C
, I I \Y
A B &
5 V I I
A B C
. I I
A B &
II \Y I
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Question Number : 8 Question Id : 7512365608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Stamens of a flower may be united with other parts such as petals or among themselves.
Identify the correct statements from the following:

The stamens are united into one bunch as in Pea

The stamens are attached to the petals. epipetalous as in brinjal
The stamens are united mnto more than two bundles as 1n china rose
Stamens are attached to the perianth in lily

< BB

2.8 HRYeS’A BdTren RES PArmes’ ) o TES” @I Socingoon GodSEy.
& 1808 TRS" S0 Trgpgosn Kfodok.

L $doen 2o7d8® ormr a8 Hozomr Socinidoaton.

IL a’nﬁnaéé"a’}ﬁgéo S0570NeS’ 58, sdven s J@0F JoosnERHaTow.

I 33ccen Homrdes’ 58 Hoosngdd Body §ob Qéakqowmm € 0T™0.

V. 98¢ 3dvren $0digw8’ Socsngdd ﬁoé:*o.\Q

,\‘\r

The correct answer 1s: Q,
P0SDN 22amew: 0
Options : é
LIV Q/v
1’ %
LI A

5 LTI

4 LIV

Question Number : 9 Question Id : 7512365609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Assertion (A) : In Algae. haplontic life cycle 1s the dominant phase.
Reason (R):  Inmany algae zygote divides by meiosis immediately after karyogamy to
form haploid spores.

Tgwg (A): Fdorod® JEREE LISTE0 Paod &4,
w800 (R): oo Idorod® Bo@E SoBrndn 20id Jobd EYEE dgdaren
JEVEETE Doosng Duos” Eohidn JFad 2&iHE0d.

The correct answer 1s:
HOGS SBPTSB:

Options :

Both (A) and (R) are true. (R) 1s the correct explanation of (A).
. (A) 500050 (R) w0 Bodr 568082, (A)% R) *’&@ DS Ge.

Both (A) and (R) are true. but (R) 1s not tha(q‘;kt explanation of (A).
(A) 58050 (R) &0 Bods H8GDSD. 5] & (R) 388308 IS8 5.

(A) 1s true but (R) 1s false. s

(A) 208, 572 (R)& aaﬁoé@

(A) 1s false but (R) 1s true«
(A) S80S 57, 570 (R) S653036.

Question Number : 10 Question Id : 7512365610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Pre - fertilization events include which of the following?
Gametogenesis

Zygotic embryogenesis

Gamete transfer

Homogametic union

<FER-

Heterogametic union

& 808 TES' A HobEsn JrEgoboRen?

L JSodridz 23850

I DBocsngde DodadsSo

M JoRBridere e

IV. 353088 Do So&oetsdn Q
V. 98 Sodrh Hare SodrKsn ‘19,\

The correct combination 1s: q&:
2GS Eeons: O
Options : é

IV \"o
LILIV &@Q/

, ILIVV

4 LII

Question Number : 11 Question Id : 7512365611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following :
List-1 List-1I

A) Entomophily I) Squurels
B) Chiropterophily II) Snakes
C) Therophily III) Insects
D) Ophiophily IV) Humming bird
V) Bats
& 08 TV 285rE0&.
2¢38 -1 2638 - 11

A) SuFe Ho Dod) L D

B) 85°%0%9 1) o‘ré@a
C) 8&%9 II) QM
D) 223509 %XD

The correct match 1s: @
é@@)é 23¢8; @i

Options :
A ® (©) ‘@@
, I 1 I \%

A @B (© (D)
g B W I I

A B (© (D)
y I N II

A @B (© (D)

; I I \Y% I

Question Number : 12 Question Id : 7512365612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
P collegedunia:
Qo :
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The floral formula for the below potato floral diagram 1s

& §o8 S pomedod YQEIIL YYdosdo.

Options :

) BrEbrl® 97‘15(3...2)-5&(%2)@5) o@&
BrEbi® §'K(; Cy A Gy é

2, &

BrEbrl® Qf K(5 }C(ID) A(lﬁ(s)

3

) BrEbI®¢ B A, Gy

Question Number : 13 Question Id : 7512365613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Indicate the correct floral formula from the following. which 1s characteristic representative
of the Piswm sativum

& 1§08 TS DD BTS2 o oo BOGHLBREN SOGS PRdoseR) Srdotod.

Options :

gcollegeduniaa
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Br.Ebil.®.§ .K().C5)-A,5)-G

(2)
B,BrL%. § .Kis), Crizaiay Aayiss O

- Br.Ebrl.%. ¢ .K().C5). A5Gy

Ebr.Ebil.%. § K (5).Cs)-Ag- Gy

Question Number : 14 Question Id : 7512365614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A typical nucleosome “bead™ 1s made up of ,9
Dofe SrEErdrS o 626 éa‘bé@&o&:‘&

Options :

8 histone molecules and 146 base pairs o@

. 8 e wenheoo 2dasn DNA &%GAG 58 e

8 histone molecules and 200 bﬁyﬁs of DNA

. 8 RS wmnHen Sodaokw W&bﬁ& 200 578 e

4 histone molecules and 146 base pairs of DNA
s 4 S weneo 003w DNA Bxg, 146 576 28
4 histone molecules and 200 base pairs of DNA

4 5PS wenheoo 0dsnw DNA Gxg) 200 58 2den
4.

Question Number : 15 Question Id : 7512365615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia
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Match the following structures with their correct names :

& Bod Aorroy BOGS WIS adsrgod.
List-1/588 -1

A) NH,-CH-CH,-CH,-CH,-COOH )

|
COOH

B) (l“H_,_—OH
CH-OH

|
CH,-OH

C) CH,-(CH,),—COOH

D) NH,-CH-CH,-OH

|
COOH

The correct match 1s:
3‘559})26 2365

Options :

A @ (©
.,V I m

@ @B (©
>» V MW 1

(D)

(D)

0@
S

&
&

1)

List-T1/58% -11

Fattyacid

8] &0

Serine

08

@@Ql\%lyceml
cb’ Ado S

IV) Glutamic acid

rgwmg‘ @@o

V) Alanine

DOV

1 E
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Question Number : 16 Question Id : 7512365616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The chromosomes align at the equator and the microtubules from opposite poles of the
spindle get attached to the kinetochores of sister chromatids are in

S0 DEFROT 90, Bod JWBHWL FTo FYo ol IrRTIE0 FES
E'3rEE SITET o0 0dhF)d Q050" Golrow. q

Options :

Metaphase - I (»Q

LSRR é}
$,

Telophase -1 é
| wody ¥ - 1 Q/v
9

Metaphase - II «
Sogsd &% - 11

Telophase - 11
wody &% - 1I

Question Number : 17 Question Id : 7512365617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Assertion (A) : Spermatophytes contain a type of primary xylem which 1s exarch in stems.

Reason (R):  Protoxylem lies towards periphery and metaxylem lies towards the centre.
Such arrangement of primary xylem is called exarch.

Fgpg (A): '?oacﬁééﬁ“'@ﬁm .8 I8 (P8 TP 80N Golrown. ©d srodod”
TTY (PRNT SO otnod.

5020 (R): DT IenddIY, odimrddy S0P Golrow. (@FEE
THRIHS" & S8 WNOED g RENT B0 wolrd.

The correct answer is

HBGF HIFEHB0

Options :

Both (A) and (R) are true. (R) 1s the correct explam@ of (A).
(A) 5605 (R) &0 Dok $66059. (A)s (P@%m D586

Both (A) and (R) are true but (R) 1s not erorrect explanation of (A).
(A) 508050 (R) o0 Bodr 6805 (A)% (R) 588308 5800 578,

2.
(A) 1s true but (R) 1s false. Q/v.
| (Wseg@ss, 52 ®) :of'}(@

(A) 1s false but (R) 1s true.
(A) 283058 57, 50 (R) S05038.

Question Number : 18 Question Id : 7512365618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Vascular cambium produces:
TS Jerag Sardd A8 GEG DTdyod:
Options :
Primary xylem and primary phloem

PEE T, |rRWE FAE Seereo
1.

collegedunia
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Primary xylem and secondary phloem
> PEDE T, Hraodh FIE Swereo

Secondary xylem and secondary phloem

; 80805 T, B8k FAE Swereo

Secondary xylem and primary phloem
; &C8OH TP, (T8 FAE Seereo

Question Number : 19 Question Id : 7512365619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

One of the following statements is not true with reference to a successive seral stages.
& 08 TS o8 Tgpg ©DEDTV A0Q @a‘bgoﬁoa&@ RoR0HON VBTG .

N

Options :
There 1s a change in the diversity of species Of@nsms.
LR IVPFoS” S8y wolwod. &

1 @

There 1s a decrease i the total bion@
| A5 @Sgoest Sde aomﬁz@-

The number of species aq@nisms mcreased.

IO, TYPO Jopg ML B.
2.

There 1s an mncrease 1n the total biomass.

LHEIZT IS DGO Gotnod.
4

Question Number : 20 Question Id : 7512365620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia
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Assertion (A) : Soil 1s amajor factor for establishment of a biotic community with diverse
organisms and it takes several hundred to thousand years to produce fertile
soil on bare rock.

Reason (R):  Lichens secrete acids to dissolve rock for soil formation.

gy (A): AAGETO 2Hod BOAS BIJID0T o FISH J)8E o8 JopgIod

o

5°880, 005 TrEIL SHod OS08308 ;’)oﬁé Dégdoé:éo ) Sode
Hod I RONBT'O DoD0 JWE0H.

w60 (R): T8 §0A0D S0)88%0 SoirHBohirds T8k eird) ©Iow.

The correct answer 1s:
BESE HSTESS0:

Options :

Both (A) and (R) are true. (R) 1s the correct expl@n of (A).
X (A) 08050 (R) en Boder $6Bosa. (A)@&%@:& DH8ed.

Both (A) and (R) are true but (R) 1s no@‘orrect explanation of (A).
 (A) 5005 (R) o Bod sa@;sa@ (A)So (R) 566508 D560 5.

(A) 1s true but (R) 1s false. Q’
?5 s°&0.

| (A)sogse, 59 (R) ¥R

(A) 1s false but (R) 1s true.
(A) 585058 &0, 59 (R) 585058.

Question Number : 21 Question Id : 7512365621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following lists :
List-1 List-1I

A) Guttation Abscisic acid

B) Imbibition

C) Dessication

D) Suberin

Root endodermis
Diffusion

Shoot epidermis
Root pressure

szg8°

& $0d JLsod 2E88rG 0.

288 -1 588 -1
A) Dodo@So D eofRE esbo
B) a0 ) 3oggpshoys
C) dgdLBowH ) @o

D) &80 2‘}05 N80

The correct match 1s: @
BOGS ad: Qj

Options :
A B B Ao-,
X ¥ ¥ 1
A B & D
« ¥ B I I
A B C D
" I\Y I Vv I

&

B D
, I m V N

Question Number : 22 Question Id : 7512365622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
collegedumas
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Match the following :
List-1 List - 11
A) Manganese Kinase reaction and turgidity of cells
B) Magnesium Water splitting in oxygenic photosynthesis
C) Sulphur Nitrate reductase
D) Molybdenum Chlorophyll
Disulphide bonds to stabilize the protein structure

S S EB=

& §08 TAI 288rE)08.

5838 -1 588 -1

A)  5rofdD ) 338 385 So0ak Sare byso
B) 3ohachae ) «88sn 88maly SoBrHEaDe” & 33&55?60
C) se)8 m 3@ esgs L O)
D) 5r0955 IV) 585080 Q,\

V) &85 S % poe508 39BYE ©gen
The correct match is: C)Q,

OGN 2 @
Oiiiona: @v
A @ (© @D
, E W ¥ &0_)

@ @ © O
o 1 I m Vv

A @B (© (@D
- & o @

@ @® O O
I N VvV 1

Question Number : 23 Question Id : 7512365623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following lists :

List-1 List-11
A)  Oxido reductases I) Fructose — 1. 6 —biphosphate + H,O
/ dehydrogenases Fructose —1.6-biphosphatase ;

Fructose — 6 — phosphate + morganic phosphate

B) Transferases II) Argino succinic acid __Arginosuccinase R
Arginine + Fumaric acid.
C) Hydrolases ) Glutamic acid +NH, +ATP __Glutamine synthetase
Glutamine + ADP+1p
D) Lyases IV) Malate + NAD® __ Malate dehydrogenase
Oxalo acetate + NADH + H"
V) Glucose + A:[’PL Hexokinase :
Glucose — 6 — phosphate + ADP.
& (508 JGBod =88r8)0d. \Q
588 -1 588 -1
A) ©§& buESen ) ®§5-1,6-8 ‘;kHZ F T = .
| & E*edEe @5 —6— + e Do FE
B) rSsdsen ) egs's o _ SRINERE |
©OI §008 esioo
0) @SS M) £NA ssoo + NH, +ATP_ REDE0SBE
st o0 + ADP +1p
D) odhse V) 3r86+NAD® _ 3086 dpreeds |

w5 S® ©d8¢ + NADH + H”
V) 86 +ATP __TEEIE | Kre'S —6—27%yS + ADP.

The correct match 1s: / 565308 2¢:

Options :

A B C D
I I \% I

1 E
collegedunia
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Question Number : 24 Question Id : 7512365624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Oxygen evolving complex which 1s responsible for oxygen evolution during photosynthetic
light reactions 1s physically associated with

83050 570888 sfuash e T sz IS So8lo BAS® JSYwrd
0022000 8§ Godood.

Options :

O
PST ‘]9,\

- &
‘Cy+b% é

3' 2

, PQ pool @

Question Number : 25 Question Id : 7512365625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arrange the following in the order of their occurrence in the Hatch and Slack pathway:.
Decarboxylation of C, acid into a C, acid in the bundle sheath cells.
Transportation of C; acid into mesophyll cells.

Fixation of atmospheric CO, into a C,4 acid in the mesophyll cell.
Transportation of C, acid into bundle sheath cells.

Regeneration of phosphoenolpyruvate in the mesophyll cells.

S < B H R

gf
€

08050 A5 Srfods” &l & (Bod TEI SHJEH0S” eddiok.

Jouy T Sres®, Cieio Gng) dsto§iBas oo C;edom Srbe.
(830 J@rodd rod'As Sarer.

TE58000' CO,. Jgrodd Serod” C udom PFos.

(48500 J@odd B0 'A8 Sarer.

T 0dE Ewrod FARTSE POIE ?’.g)éﬁd:ﬁ%\g

< @ 83 B F

The correct sequence 1s : &‘»
QOGRS JWIBSse: @
o O
, ALILIV,LV $
. OLIV.LILV &@

: OLLIV.V.II

o BVILILIV

Question Number : 26 Question Id : 7512365626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arrange the following in the order of their occurrence with regard to glycolysis.
L Phosphoenolpyruvate

I. 2 -Phosphoglycerate

. 1.3 - bisphosphoglyceric acid

IV. 3 - Phosphoglyceric acid

V. Pyruvicacid

5700 020800 &J) & Bod TEJ IKJFEH0S” wodod.
3’3‘3&&6‘3&‘35
2 - FAHSSE

',
I

IL
I 1.3- ﬁ)ﬁ&@‘aﬁa&&g &350
V. 3- 2o40=08 a0

O
V. 288 sd0 ‘]9,\

The correct sequence is é
3050 StoBES0: O

Options :

| ILOLLV.IV Q/V‘
. ILIVILLV &0_)

. VLILILIV

, VILILLV

Question Number : 27 Question Id : 7512365627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify the dehydration and oxidation reactions among the following :
Oxaloacetic acid + Acetyl CoA — Citric acid + Coenzyme A
Fumaric acid + H,O — Malic acid

Citric acid — Cis-aconitic acid

Isocitric acid + NAD™ — oxalosuccinic acid + NADH

Malic acid + NAD™ — Oxaloacetic acid + NADH

<gpgRA*"

NPOET0 SoBoswn w§Emo SEgo & Bod 8BS Hgowod.

I o5mS o0l sXo + 9086 CoA — JEE elo + 3TdeB0 A
I  Hg5008 edno + H0 — 5008 e

Il S esdo — V-8 AEE edo

V. 22%E8 s + NAD' — 5’838 ek GYVADH

V. 50085 soo +NAD™ - uss)S*ed B8 el ADH

The correct combination 1s : é

DOGN oo’ : é
Options :

1'“ IL.Iv.v @v

, LILILIV &O_)

; ILIOLIV.V

s I V.1

Question Number : 28 Question Id : 7512365628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia
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Match the following plant hormones given in the List - I with their maim corresponding

physiological effects. presented in the List - II.

List-1 List-1I
A)  Auxm I) Cell division
B) Gibberellins [I) Fruitripening
C) Ethylene III) Bolting incabbage
D) Abscisic acid IV) Apical dominance
V) Seed dormancy

SG8-1 S° S I o HE)$, HGE-II &° &&) S80S ¥VEEE) Brd)§ PerTod

;630235 Dowodo O8N 8E aaééu‘“daoé.

S8 -1 D88 - 11
A) 89 D Eeodgyad
B) 22393 ) Hoo :&%é
C) 2803 o s &
D) ofRf edo V) ﬁ

The correct match i1s:
H0G0S 2é: Q/v.
A ® (© (E!S’

y A \Y II I
A @B (©) (D)

5 J\Y 111 I V
A @B (©) (@D
1 \% V Il

3.

A @B (©) (@D

& N V I I

8L

Question Number : 29 Question Id : 7512365629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
collegedumas
° - India’s largest Student Review Platform
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Examples of photoautotrophic bacteria which capture light energy and transform it into
chemical energy to obtain carbon from atmospheric carbon dioxide are

L Anabaena

II. Nitrosomonas
.  Chlorobium
IV. Xanthomonas

5°08¥8Q (ool SFrodd ¥ $r8) TS0 SHRRLRE Dol SRR Fold
508 Hroho Fas rEocirot Gordnw.

L eos5ds
I J&&F3roe
0. §&Dobad0

IV. arod’3rad

The correct combination is :
é&@oé geoows

, LI Q/v.
nm &2

, ILIV

Question Number : 30 Question Id : 7512365630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In the Bacteriophage the arrangement of its parts (Top to bottom) are as follows :
Head containing DNA
Sheath

Collar
Tail fibres
Base plate

e o o

0B ES® orren (RS Kool (Bodss) SAGom ©HBI.

L DNAE9AS o

I &%

I s

IV &&83%en

V. ss5gioso \Q

The correct sequence i1s :

&
HBGH SEDBES0 : é}

Options :

, LIVILLV Q/v.
>, ILLIV,V.II &O_)

. LILIVILV

, LILILV.IV

Question Number : 31 Question Id : 7512365631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

To determine the genotype of a tall plant at F, generation. Mendel crossed the tall plant
from F, with a dwarf plant. Mendel called this phenomenon as :

F> 3088 o Emézr aa:&:giir‘ééé& Q820N R8, DodkS Firdord Einébéo @Qﬁné&éﬁ
008800 20>, oS & 56&.33‘6.‘63 Qe G—B:O'_D_CSJ :

Options :

collegedunia
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Heterozygous

Qé&ml’f&ao
1.

Homozygous
9 D0 030N 120

Test cross

205 Yoo

Allele
" o308 } 08 9.39)3‘3:13

Question Number : 32 Question Id : 7512365632 Question Type : MCQ Option w% : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a cross between homozygous recessive and a 116@@115 dominant, the phenotypic
and genotypic ratios respectively are &

&

QISR wodPS Hoban @é&oﬁwﬁ&a@rv G DoE0ES 0T GyFgdod So0diw
230580 AQEen HEIT

o;o

l:land1:1
1:18c50 1:1 «
1.
3:land1:1
; 3:1%8a50 1:1
all are dominant phenotype and all are dominant heterozygous genotypes
Q) Rardd SEgdrdrer 0L wJ) Wrdd wIJodinie 2RogETT D
3.

all are recessive phenotypes and all are recessive genotypes

@ag @oégé cﬁa%’gdréﬂm 00030 @Q} @oégié aa:é.)gcﬁrffm
4. '

collegedunia
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Question Number : 33 Question Id : 7512365633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following groups present at every nucleotide in RNA?

RNA &°0 98 &rg8@r8dhd® & Bod 8S° & dSnmdires eotron?
Options :

2' —OH and 3'— OH groups 1n ribose

BSRS'R 2' —OH S0 3' — OH Sdwaroiren
1.

3'— OH group in ribose

BS*BS*D 3' — OH d50mraso
il

Uracil group

N
. BT E BT o0 Q\
‘v
—CHj; group é
O

s CH; d300mra%0 @
Question Number : 34 Question Id : 7512365634 mpe : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientati ical
Assertion (A) : DNA 1'eplicati0|@0utiuuons on leading strand while on the lagging strand
it 1s discont
Reason (R):  Thisis because. DNA polymerase cannot initialize polymerisation without
a primer.

gy (A): DNA £588)8 938 Horddd 2SS oIS 570 28 398288 FIS°

;’Jz‘i}‘)}@p.
800 (R): 28 Jo&8od, DNA 2055708 Ho2sEmo @200 SHoET oGS
e8],
%)
The correct answer 1s:

DBGS Sdrgrddoo:

Options :

collegedunia
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Both (A) and (R) are true. (R) 1s the correct explanation of (A).
(A) 508050 (R) en Bodor S0, (A)so (R) 86508 D5,

Both (A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) 08050 (R) &0 Bodor $8G05D. 52 (A% (R) 50508 dd8e 5 &b.

(A) 1s true but (R) 1s false.
(A) 88658, 579 (R) $8G58 560,

(A) 1s false but (R) 1s true.
(A) S8R0S8 57k, 52 (R) D056,

Question Number : 35 Question Id : 7512365635 Question Type : MCQ Option wng : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a translation experiment. two different mRNA@ different nucleotide sequences.

mRNA 1-5AUGUUUUUAUUUUUAUAA G-3'and
mRNA2-5'-AUGUUC UUGUUAUUUU UUACUU-3
are used. Which of the following statemegitstiue.

el0Td BARrod*, Boky I .@g@ SE0DEH00 &S Tody oo MRNA o
T, B

mRNA l-S'AUGUUUUUA&U UUAUAAUUCUUG-3',
mRNA2-5-AUG UUC UUG UUA UUUUAGUUUUUACUU -3
& 808 Trgpges® I8 JBGIH.

Options :

Both mRNASs code for polypeptides having same molecular weight.

3oy MRNA en 28 wsordo o &é)"&}%é)&:éa JQosagredy JrdoTron.
s

mRNAT1 codes for high molecular weight polypeptide than mRNA2.

MRNAIL mRNA2 $08 2855 weaoerdo Heo OB Dosg0 MN0B.
2

collegedunia
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mRNA?2 codes for high molecular weight polypeptide than mRNAL.

MRNA2, mRNAI 508 280)$ weogrdo o FORRHHN So880 2%08.
3. s

Molecular weight of the two polypeptides coded by both mRNAS can not be compared.

X 3o MRNA o dosero oo S &63}%&3@ VLT T ) @5@&5533.

Question Number : 36 Question Id : 7512365636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For transformation of recombinant DNA into plant cells using biolistic method. which of
the following micro-particles are used.

Qdcdo@raE DNA Q 308 o Eerod ™8 H03850 Bohads o3 2B3rOR8 (‘555&5@@*
& 808 2 drgfere (microparticles)o derdd? q
Options : \

Silver or Gold (»Q

S0 BE womrdo @&
O

Platinum or Silver é
, &oR$S BE 3od :v

1

Gold or Tungsten «

oo 8§ LOAYN

Platmum or Gold

5?:&3:‘553 S€ omrdo

Question Number : 37 Question Id : 7512365637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which palindronic sequence is recognised by EcoRI restriction enzyme?

D FOoEIE SodEsres EcORI BRES ISEHS' MHgowsedtercn?

Options :

collegedunia
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3'-GAATICY

S'-CITAAGS'
1.

J—-CTTAAG=—Y

S'-GAATIC-3
3

5y —-CAATTG—3
. 3-GTTAAC-¥

3'-GITAAC-5
g S'-CAATTIG-3

Question Number : 38 Question Id : 7512365638 Question Type : MCQ Option @ : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Match the following lists :
List-1

A) Lepidopterans

B) Coleopterans

C) Dipterans

D) Com borer Q,

& (§od J8FoD wééd:ﬁG&@
585¢ -1

A) BaEuo

B) §SoIraow)

C) &0

D) s§&86

The correct match is:

é&@a:ﬁ 23¢8:

Options :

<
O
'

s=2 g8

S 2 BB %

&‘kist -1I

CryIIADb

Flies. mosquitoes

CryIAb

Tobacco budworm. Army worm
Beetles

2e38 - 11

CryIIAb

&ilen, Sdoen

CryIADb

Loers adT e, ed)ar
¢3Sy (Beetles)

collegedunia
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Question Number : 39 Question Id : 7512365639 Question Type : MCQ Option Sh
Single Line Question Option : No Option Orientation : Vertical

@ @\ ©O© O
Vv I N I
@ @ © @O
m I L ¥
@ @ © O
vV M 1 I
@ @’ © O
v VvV 1 I

Match the following lists :

List-1
A) Cow Pea Pusa Komal D
B) Chilli Pusa Sadabahar 1)
C) Brassica Karan Rai
D) Okra (Bhindi) Pusa Sawani W)

&

A)
B)
C)

D)

2
Bod S 288-08 :
288 -1

N YFENS
WED FaIT 0T
1ET7R5” EER070R

Dol JwI D

S < B B

The correct match is:

0000 ad:

: Yes Display Question Number : Yes

Q’\

List -
S nd fruit borer resistant
tant to bacterial blight
sistant to tobacco mosaic virus and

%leafy curl.

Resistant to white rust
Resistant to leaf and stripe rust

588 -1
©F 080 $:0050 Hoo Fod Hke IS EES
B0cRHS BES JTBES

s Jozrons IdoB o8adw
SHINESH ATEES

808 Bofd Beos NGB8
HE H0050 T Kot Brenss AT EES

collegedunia
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Options :

(A)

(A)

(A)

(A)

5 ¥

Question Number : 40 Question Id : 7512365640 Question Type : MCQ Opti
Single Line Question Option : No Option Orientation : Vertical

(B)

(B)

(B)

(B)
\Y

(€)

(©)

(€)

(€)

Dengue Fever

IL
M. Mad Cow Disease
V.

Tuberculosis

Po0LIBS volnargioen @

L 2J058 o8l el do@s

30:’1}*5 augcﬁo

IL
L. S>&5 TR
IV

@gaﬁéogeﬁ‘?aﬁ:

(D)

(D)

(D)

(D)

The correct combination 1s:

503308 Ewons:

Options :

L IV

8

oL 100

The infectious diseases which are emerging in 11&'
L  Severe Acute Respiratory Syndrome

~

ing : Yes Display Question Number : Yes

collegedunia
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| 1 I
3

4' L]
Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 7512365641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : Species is a breeding unit.
Reason (R):  They are reproductively isolated from the individuals of the same species.

ANSSS0 (A) 128 o8 PSS Pdre0
s*8=0 (R): o0 88 S 2Jo Hod & % RO JIES Tod wolron

The correct answer is 0‘
SO HEFTH S0 @

Options :

Both (A) and (R) are true a1 é} the correct explanation to (A).

(A) S508a80 (R) en Bo S2. (R) o3& (A)S 0508 DHdeo.
1.

Both (A) and (R) are true but (R) 1s not the correct explanation to (A).
(A) 508050 (R) &0 Bodr $0a08. 570 (R) 038 (A)S J8&1S D58 s7&.

(A) 1s correct but (R) 1s wrong.
. (A) S630&58, 570 (R) 205088 5.

(A) 1s wrong but (R) 1s correct.
4 (A)JBSE 5, 50 (R) S8G038.

Question Number : 42 Question Id : 7512365642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
collegedumas
° - India’s largest Student Review Platform
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Match the following:
Set-1 Set-11

A) Theblack buck

B) Kashmiri stag

C) Pygmyhog
D) Siberian Crane

Grus leucogeraniis
Panthera leo persica
Antelope cervicapra
Cervus elaphus hanglu
Sus salvanius

R P-E-L

8oB T BSBBBS®.

588 -1 588 -1

A) 8y =08 I) (0 ers&E8oss

B) S"%&ﬁ SN 1)) @ﬁ" OB DO)5*

C) Sodiey Hob II) @dﬁeﬁ“ﬁ DOesF
D) &dcsr 8ol 'Q%Qgﬁ DTS SolD

& 55 +oavs
O

The correct match 1s @
50G0S &80 Q}

Options :
A B E P A@
I T N I
1.
A B £ B
s ML W ¥ 1
A B2 £ D
-« X W8
x B £ D
« T 9 % 9

Question Number : 43 Question Id : 7512365643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
collegedumas
° - India’s largest Student Review Platform

—



Statement (S) : Bilaterally symmetrical animals are less efficient than the other animals
in seeking food and locating mates because of cephalization.

Reason (R):  Cephalization is developed in bilaterally symmetrical animals.

Fspg (S): SerE) QS 2odYen BFE SS0FFIS®, HohHLII IHE) S80S,
S8 2Hho BoB 89S SSogdodormr & odrow.
5*80 (R): SO RS 2o JHos' I6E )8 Bod wolnod.

The correct answer 1S
HOGDS DS

Options :

Both (S) and (R) are correct and (R) is the correct explanation to (S).
(S) 208050 (R) ex Bodor 585305, (R) 938 (S)&@cﬁoc‘ﬁ DNEED.

Both (S) and (R) are correct but (R) 1s not the @t explanation to (S).
 (9) b (R) o0 Dot $OGHSI. 5 @w:sa (S)% 565 IS8 56>

(S) 1s correct but (R) 1s not correct. é’

_ (S)%ogise, 50 (R) $68056 6-

(S) 1s not correct but (R) 1 ect.
) (S) 8GDIB 578, 570 (R) W830I8.

Question Number : 44 Question Id : 7512365644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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—



Match the following:
Set-1 Set-11

A) Prevent leakages of body fluids between cells I)  GapJunctions
B) Provide cytoplasmic channels between cells II) Ligaments
C) Actasrivets in binding the cells [I) TightJunctions
D) Attach bones to other bones IV) Anchoring Junctions
V) Tendons
Bod T 2BEDBEIBB®.
588 -1 508 -11
A) Sero &g 08 BT 58800 AT QBT RS ) @088 Sodoen
B) &mro Hdy Saidsy Sogoss ST I8 ) wodsren
C) Sorod 208085808° BAL K AT \Q ) 259 Soew
D) JddnEodH 88 dJS0E0d 98808 E 8 (»Q IV) 2088 dofoen
& V) odn 2odSSoen

The correct match 1s é’
Q0N 'R0y

&

Options :
A B € D @
B I ¥
A B € D
: o m I vV
A B C D
e MY 3 V N
A B £ P
m I NV I

Question Number : 45 Question Id : 7512365645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia
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Identify the correct statements with reference to Platyhelminthes:
A These are the first bilaterally symmetrical triploblastic animals.
B.  They have pseudocoelom which acts like a hydrostatic skeleton.

C. Hooks and suckers are present for attachment in parasitic forms.
D. Fertilisation 1s internal. development 1s indirect with many larval stages.

T PHI® J020H0N IO TgPgo Ka8owohw.

A 2D RED BTG RS BRI0E 2o Yew

B. 20 20p88 vidondo o ST iy #8&roR) 0 wolrow
C. Jod) Yo" oBHF)IT8 T e, wolodgoo eodron

D. ©od8d0b88n, o3 sofE Sdod® L& SIARNA

9

, A.B&C

2 5% C’Q,

s A.C&D é
s B.C&D Q/v.

Question Number : 46 Question Id : ?512)@%&0“ Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orienation : Vertical

Identify the correct statement with reference to ‘Earthworm’.

TRFTHI0E S020LOW IS0 Trgpgo HMoWEw.

Options :
Male genital pores are present on the ventro-lateral sides of 18™ segment and female
genital pore on mid-dorsal line of 14™ segment.

DDA 235 Soren 185 podsD ﬁéd—&d{ﬁé@@&?‘. @g 238 Yoo 145 pod&Y
Sy Sy Spp wolrow.

collegedunia
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Male genital pores are present on the ventro-lateral sides of 14™ segment and female
genital pore on mid-ventral line of 18 segment.

DHA 288 Soren 145 podsYH wis-Fderod’, é 258 oo 185 p0d8H
&ddde &g O wolrow.

Male genital pores are present on the dorso-lateral sides of 18™ segment and female
genital pore on mid-ventral side of 14™ segment.

QR 23S Sogren 185 poddy JR-FHdTod’, é.:‘; 238 Joo 145 podsy)
& Sy TP Golrow.

Male genital pores are present on the ventro-lateral sides of 18™ segment and female
genital pore is present on the mid-ventral line of 14™ segment.

DOR 238 Soren 185 poddy &éd-&d}ﬁe‘é@@@% 20 Jogo 145 pods)
&E880 o IpD Gotrow. -~

4, Q
&‘\r

ption Shuffling : Yes Display Question Number : Yes

Question Number : 47 Question Id : 7512365647 Question Type ;
Single Line Question Option : No Option Orientation : Vertic

Identify the correct statements with r
Circulatory system is closed
Atrnial cavity 1s lined with 1.

Notochord 1s cnnﬁne?e tail only.
Burrowing mode of life’

ordsPiri Sonodod J0GS Tgpgess Holhdw.

ce to Urochordata.

OnNn Wy

A s5)8 I508 Dobd CEDITn HgHY wolnod

B. JBHS soirdo 2irdsod’ 500l &otnod
C. J)RSo¥dn %% Irm@d 0NEF &otwod

D. Deos5d £33 780

Options :

A&C
1.

A&B
-

collegedunia
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. B&C

, C&D

Question Number : 48 Question Id : 7512365648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Match the following.

SET-1 SET-1I
A) Procoelous I) Caecilians
B) Amphicoelous II) Mammals
C) Opisthocoelous II) Anurans
D) Amphiplatyan IV) Urodeles
Bob TR 2EHEBB. ,9

588 -1 £ _1I
A) H58 )K OGS
B) &eadong & §8Tren
C) 5618 @ M) 2érgsSes
D) egchssseo GV' IV) cSar&'ése

The correct match 1s &6

506305 &80

Options :
A B C D
, ¥ B W ®
A B C D
, I 1 N I

=
2
H 0

collegedunia

—



b

Question Number : 49 Question Id : 7512365649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Which one of the following is a ‘Protein motor molecule” of a cilium or flagellum which
helps the microtubules to slide for bending movements?

& 1808 TS* @) P88 Tof v’ 308 S §3goest &od SrETr98w S0

EXO80S” SFaNdE0h?

Options :

Tubulin
ooegen 5@5

Question Number : 50 Question Id : 7512365650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

-

—

collegedunia:
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Match the following:

Set -1 Set-1I
A) Hologamy I)  Paramecium
B) Multiple fission ) Euglena
C) Homothetogenic fission ) Trichonympha
D) Symmetrogenic fission IV) Plasmodium
808 D 2SHES®.

2838 -1 238 -1
A)  HSED D Dodaobo
B) odve 208 ) arior
C) FIraE'EE 298 11§ @@.ﬁv
D) d3oy'=IE 28 V) '

The correct match is

50508 &80

Options :

A B P D \"o
, X B W o;(/
aBcop AN
;s I B W W
A B C D
, N I I m
A B €D
, I I I I

Question Number : 51 Question Id : 7512365651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia
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Identify the enzyme secreted by trophozoites of Entamoeba hystolytica to dissolve the
mucosal lining of the intestine of man.

WJOEIET éﬁ"%’@éﬁ? o‘cbnéb FPA8BF0 & (Bod Joe3eS® o8 3042.350263 PoR ISP 2%
50850e5°Q Eé&ém@ 8R0S0

Options :

Hyaluronidase

1 0N GIRE

Histolysin

TFBS

Acrosin

O
N
JEDS ‘»Q

A
Renimn OQ/

) O $

Question Number : 52 Question Id : 7512365652_Qu n Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Oriercatian : Vertical

Nocturnal periodicity is exﬁdted by

VFsTe 8530 & (HE0)Bs:

Options :
Trophozoites of plasmodium

FBao FaETen
1.

Sheathed microfilaria larvae of Wucheraria
§00ar Qog) Sdibie E PO Gogisen

collegedunia
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Sausage shaped larvae of Wuchereria

&$BOA B, oS 578 dofsren
&)

Sporozoites of plasmodium
FIEaDo BooE), FYEE aolen

7

Question Number : 53 Question Id : 7512365653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following drug is extracted from the dried latex of the unripe poppy plant
seed capsule?

T I ©HOIE; DES HIE DwE) JodS TTE) Sood & §od TS 2 30083850

EORS? 0,9
Options : W

Heroin «
POTONR Q/
O

1.
Cannabinoids é
ET DI 0N Q@) Q/v

Morphine &6

Z)P&QS

2.

3

Cocaine

535
4.

Question Number : 54 Question Id : 7512365654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Appendages are absent in the following head segments of Periplaneta:

DOFIEr SO’ & 808 Poderes® GFore STRod wolrow.

collegedunia

—

Options :



Fiurst & Second
2088 & Bodks

First & Third
F0EE & orES

Third & Fourth

rEd & TN

Second & Third
Bodd & JHorES

N>

Single Line Question Option : No Option Orientation : Vertical

Question Number : 55 Question Id : 7512365655 Question Type : MCQ O[?fﬂing : Yes Display Question Number : Yes

Which of the following statements are true will respect to the circulatory system of

Periplaneta americana? @

A Heart consists of 13 chambers.

B. Haemolymph brings oxygen from ae and supplies to different organs.

C. Contraction of heart chambers % the blood to flow into aorta and from there in
to sinus of head.

D. Alary muscles faciljtatet@w of blood through the heart.

DOFTEr 0T T SERHIS0 DgRRB Dowofod & 1Bod TgPged” J0GHID A7

A Tyddio 13" Kool E0A Godki

B. ‘Y8 3800 rddnTrere 008 s8nsd (rod dDE elchaTrody SEHT Baswd

C. ®08 Ko S08H0 S0 MoBS G50 NFFGIS'S HSrol) w8 & Sood) o'

D.

Options :

A&B

;B

§LoR8 (BSd08

g80 o8 T0° RWITOITE VY BodTen JTEOT;on

A&C

2

collegedunia
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. B&D

, B&C

Question Number : 56 Question Id : 7512365656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following:

Set-1 Set-1I
A) Testes ) 7.8.9" abdominal sterna
B) Ovares I 4- 6% abdominal segments
C) Mushroom shaped gland ) 2 -6%abdominal segments
D) Genital pouch IV) 6. 7" abdominal segments
808 I WD B, Q

288 -1 } - 11
A Sodmen )\ , 8.9 688 &ddosen

B) ég D8 aen c’% 4 3008 6 38 podaren
C) HLFHK w56y Hod @ ) 25008 6&88 podaren
D) =233 §J%0 : IV) 6.7 &8 podaren

The correct match 1s &@

DO £'GoY

Options :
A B £ B
; b B E XN
A B € D
= T W 1
A B C D
s ME R B W

collegedunia
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A B € D

, V1 I m

Question Number : 57 Question Id : 7512365657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Doubling of metabolic activity with every increase in temperature by 10° C 1s called

©8 10° C o 6Js hHEos £5EcSr Bin BP0 ©YE0E 38D IahBosw:

Options :
van't Hoff s rule
TY 5D doHo
1
Allen’s rule q
S0 Qoo Q\
2. W
Bergman'’s rule q&
ROITe A0
= " o é’

Jordan’s rule ( : v
2§"OL':5 Qo Moo

4 &@

Question Number : 58 Question Id : 7512365658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gcollegeduniaa

—



Match the following.
Set - 1 Set-1I
A) Mutualism One species 1s harmed and the other species 1s unaffected.

B) Commensalism Both the species are benefitted.

C) Parasitism One species 1s benefitted and the other species 1s neither
benefitted nor harmed.

One species 1s benefitted and the other species 1s harmed.

s BE*”

D) Amensalism

& 180B TBD 2EHKES®.

5838 -1 $88 -1
— =

A) edgrgEad D o8 =8 I[5D&08, Dok 8
SHBS50 Jerol HErdo wodksd

B) &&gtasdco II) 3JBod =reoen of) Dok

C) Hond) €580 ) &8 ereiHddod, T8 SHAPE

SO oISEE (»
D) a0 IV) o& =8 @&‘ﬁé&. BodS =8 SHFS0

The correct match is é’

28303 S80D

«"’Q/

=5 > B>
=
g O
B

B € D
g m N I
A B € P
« I 1 W W
A B C D
, V II I 1

Question Number : 59 Question Id : 7512365659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Increase in the concentration of a pollutant at successive trophic levels in an aquatic food
chain is called

08 esFIY) Feodhs® SRgITE MES of FRET00 oD Ho&E FUEI 008
DEKErFE T

Options :
Biodegradation
1 2BrE BRI
Eutrophication
’ OSPIETr DB AR

Bio-remediation

BB DEHES Q@
‘v

3

Bio-magnification

2 esI3¢d0 C)é}

4

Question Number : 60 Question Id : 7512365660 Q@l Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A
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Match the following:

A)
B)
o
D)

Bob

A)
B)
)
D)

Set-1

Glucose

Long chain fatty acids
Vitamin B,

Fructose

TEY 2EHEB®.
s8¢ -1

S8¢ -1

Kr8'E

5?;%0&09.: T8 siren

dLdS B,
SES

The correct match 1s

503085 F*E0

Options :
A B L
1 I I IV
A B ks
= F 1 I
B &
g 1 W I
A B 4
4 1 I \Y

< B

O

SB38°

Set-11
Facilitated diffusion

Secondary active transport

Formation of Micelles

Castle’s mtrinsic factor

S8 -1I

2085 -1l

oy 331',53.60
&eaod Do Jarer
DRT e Bero

?266?6\@3335 s~E80
‘v

Question Number : 61 Question Id : 7512365661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following:

Set-1 Set-1I
A) Emphysema I) Lung infection caused by bacteria
B) Asthma I[) Damage to alveolar walls by tobacco smoke
C) Siderosis IIT) TIron particle deposition in lung tissues
D) Pneumonia IV) Inflammation of bronchi & bronchioles

808 T 2ESEBHEw.

238 -1 S8E -11
A) JdopRdr D) er80csr dogdomo So Ho88s’ 7 gd
B) wada7gd ) &Agrido Jo Tanfreo Fdew 3QoIHaow
O) DASD I <208k oo’ 20S00den Foloddiatto
D) &org3oros V)

FHHIYo, aﬂﬂgéa'ﬂ@s‘@ D GsLo

The correct match is &

20308 S0 Q/
i O
A B D é
I I

I\Y

1, &
P

H O

A B £
= | I m N
A B € D
. I v m I
A B C D
, I I N I

Question Number : 62 Question Id : 7512365662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statement (S) : During blood clotting. soluble fibrinogen 1s converted to insoluble mesh
work of fibrin.

Reason (R):  Factor XIII cross-links fibrin monomers by replacing covalent bonds with
hydrogen bonds.

gy (S): 688088 HBHS' KA DOSHS E6K DIOS Som SrEnBosdo.
8o (R):  s¢8o Xl 5Bz ool @' e woreom Srddds RS
S obod el 2080086

The correct answer 1s
DBGDS SBFHH0

Options :

(S) 1s not correct but (R) 1s correct.

D
(S) S8Bosd8 57, 570 (R) S05Bodb. ‘»Q

Both (S) and (R) are correct.

A
(S). (R) ew Bods S0B0SD. @é(,

(S) 1s correct but (R) 1s not co@.

., (S)%ogmie, &0 (R) ét@ 5.

Both (S) and (R) are correct. but (R) 1s not correct explanation to (S).
. (S). (R) Bodr 5853080, 52 (R). (S)80 30508 2580 5°&%.

Question Number : 63 Question Id : 7512365663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Facultative reabsorption of sodium 1ons and water takes place in

D, FohHo eoirSen JEOE P&TH oo & (BB’ Fhodsadeon.

Options :
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Proximal convoluted tubule
SD Hod39E 9K

Distal convoluted tubule
SrTr QoNvE T8

Ascending limb of loop of Henle
TR3Eg w8 98

Descending limb of loop of Henle
RISy w38 98

4 \Q

Question Number : 64 Question Id : 7512365664 Question Type : MCQ Oj ti uffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical ‘

Match the following:

Set -1
A) Condyloid joint I) ?ﬁw&n Atlas and axis
B) Pivot joint @' etween carpal and metacarpal of thumb
C) Saddle joint Between occipital and atlas

D) Gliding jomnt &@ IV) Between Inter-carpals

BB T 2BEDBIBB.

D38 -1 2¢38 - 11

A) sodorond Sen D) 38&5%0, wigicso Sogs

B) £ oidd) Sew ) LS I00S5°) 88y, Soeduodo So8g
C) &S5 8en ) 38850, @-A’)Jéi)’)@?{g 08

D) 3% 8Sen IV) Sosdwodsye Sodg

The correct match 1s
2008 F*EoD

Options :
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A B C D
, 3 W B -
4 B © B
o I I m N
A B © B
. 3 1Y
5E B £ D
, I I 1 N

Question Number : 65 Question Id : 7512365665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) : Anaction potential occurs in the membrasg T the axon of a neuron due to

influx of Na™ ions. Q

Reason (R):  The action potential occurs whe t&epolaﬁsation reaches a threshold
potential of +55 mV. q&

s (S): 0d8 dopges' Fdoho 0 TAE00S'E (HIoWdo S0 TR
SoETER) SWo © 380 DSBS 08

5620 (R): 988 JGode gﬁg ¥Eo +55 mVE BH&os odyds [§oirFE)o
D B06 &

The correct answer is

H0G0D BITFTHI0
Options :
Both (S) and (R) are correct but (R) 1s not correct explanation to (S).
1 (S) So6ciw (R) e Bodr 38530852, 59 (R) @38 (S)% J05308 2h8 s7.

Both (S) and (R) are correct and (R) 1s the correct explanation to (S).
(S) 508050 (R) en Bodsr S8, (R) 9386 ()% LS008 Dddes.
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(S) 1s correct but (R) 15 not correct.
| (S)Bogse, 0 (R) $ogse .

(S) 1s not correct but (R) 1s correct.

(S) $8B0Ss vk, 572 (R) 85086,
4

Question Number : 66 Question Id : 7512365666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statement (S) : Cortisol 1s a “Stress combat™ hormone.

Reason (R):  Glucocorticoids stimulate gluconeogenesis lipolysis and proteolysis.

g8 (S): TS wf w8d Fob TS

500 (R):  Arfsdsronden 8rFATraEdns, §®%5 (DPEBrHS (ool
58D om. N

N
. ‘V
The correct answer 1s «
O

SOGHY HEFTHI®

Options :

Both (S) and (R) are correct but not a correct explanation to (S).

(S) %0805 (R) e Bods 6 .59 (R) 038 (S)% 585308 DB8e 5760
1.

Both (S) and (R) are correct and (R) 1s a suitable explanation to (S).
’ (S) S08a50 (R) en Bodr $6G082. (R) @38 (S)& 2850S J5e.

(S) 1s correct but (R) 1s mcorrect.

(S) 86038, 57 (R) S6Z0ds 57&.
3

Both (S) and (R) are mcorrect.

(S), (R)Bodor 6508 5°D.
4.

Question Number : 67 Question Id : 7512365667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
collegedumas
° - India’s largest Student Review Platform
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Hyposecretion of vasopressin and insulin results in and

FFRYR, YOI FE oo vV IES oI , Trgeoen
DO AT 0.

Options :
Addison’s disease and diabetes mellitus

B85S g0, BASrBED YLD

Cushings syndrome and diabetes insipidus
SoR0f) Vo', B0rBER RVVNER
2.

Diabetes mnsipidus and diabetes mellitus

N>
BSrBED ASHVES, SSFBED LS Q
3. W

Hyperglycemia and diabetes mellitus é
96 Bhdookr, dasrass 2ous L)
ﬁ ™

A @

Question Number : 68 Question Id : 7512365668 Q@ Type : MCQ Option Shuffling : Yes Display Question Number : Yes
e

Single Line Question Option : No Option Orientation : Vertical
Which one of the following es 1s present in the colostrum of the mother to provide
immunity to the new born baby?

& 806 TS O PEBTEN $Y FSPNS' $0d SHrd P FRICSESS
BEr 52520872

Options :

J =4
1. 8.
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]é

Question Number : 69 Question Id : 7512365669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Cervical cancer is caused by

Hopdad Swpmgd 575950 8 Sod $8308.
Options :

Herpes simplex virus

TrE0 vowE) I
1 =

Human papilloma virus

TP FRT I IR Q\q
‘v

(FFUSr FOES
3.

&
Treponema pallidum C)
v

Human immunodeficiency v%
SoegSon *a:&:\ogs“aqmm.&

4.

Question Number : 70 Question Id : 7512365670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

—
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Match the following:

Set-1 Set-11
A) Surgical contraception in females I)  Vasectomy
B) Natural contraception M) Copper T
C) Surgical contraception in males IM) Lactational amenorrhea
D) Uterine contraception IV) Tubectomy
So& TPUR 238Dt HW.
2838 -1 Di38 -
A) é;@e.'i* IJN8G) Joas JATHES ) Jgao
B) &5z 8GATEES I 36T
C) HHDOS* FR8E) Boad IESES Qias osoosr
D) dopded doerd JE°EES LT gBE 0

The correct match 1s

50608 &80

A
&
&

Options :

A B € D Q/v.
. E m® 1 '@

A B ./ D
., N m I I

A B C D
.,V I m [

A B @ D

I II |\ I

Question Number : 71 Question Id : 7512365671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia
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Statement (S) : Rh incompatibility causes ‘Erythroblastosis foetalis’.
Reason (R):  Erythroblastosis foetalis 1s not due to haemolytic anaemia.

Tswg (S): Rhs88 oS8 Hmgd S0 ‘PErIPI0 Lrdd’ ASYH&08.
5600 (R): ‘ST II0 2erdd’ rIrSes eddsr Ho Dé&c’écﬁo,

)

|

The correct answer 18
é&@oé QT LT® 9 0

Options :

Both (S) and (R) are incorrect.
(S). (R) ol D050 5.

AN
Both (S) and (R) are correctand (R) 1s a sultab*}aylanatlon to (S).
(S). (R) Bodk> $85052. (R) (S)s8 éa@&a Seo.

(S) 1s correct but (R) 1s incorrect. é

(S) %8558, 53 (R) S80S .

Both (S) and (R) are cm‘re& (R) 1s not a suitable explanation to (S).
’ (S). (R) Bodor 588308. 52 (R) (S)S80 388308 I s°&.

Question Number : 72 Question Id : 7512365672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following:

Set-1 Set-1I
A) XX-XO I) Fumea
B) ZO-ZZ I) Reptiles and birds
C) ZW-ZZ Ill) Drosophila
D) XX-XY IV) Grasshopper

808 TPAQ 228Dt Bw.

238 -1 w38 -11
A) XX-XO D Jrgdoals
B) Z0-Z77 ) S8SyFen, Dfoen

C) ZW-ZZ ) Gf@r
D) XX-XY N)@ea

The correct match is Q,

STeTon SN ISl ToI)
Options : s
A B 3 D Q/v.

. \Y I | «
A B C D
\Y I I I
2.
A B D
\Y I I I
3.
A B ¥ D
’ I vV I I

Question Number : 73 Question Id : 7512365673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
collegedumas
° - India’s largest Student Review Platform
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Down’s syndrome is a genetic condition that causes delays in physical and intellectual
development. The cause of this genetic disorder 1s

FTIVoE'D o3 o8 2dgpd TOLE, SrddE whI) Solodtbiy Tdobd. & ulog
SRR 5 5eaa0.
Options :

The partial deletion of the short arm of chromosome 5 or 5p monosomy.

55 ErE S’ FE wrdoIS® Foderio S*woddo B SP IrTE D

The presence of three copies of 13® chromosome in each cell in the body.
B50S R Padndo 135 Farste Sord (3) Pédhen Godio
2.
N
The presence of an additional copy of the m chromosome (Trisomy 21%)
21 5 28 FrEHS T wbSorw éoﬁé@ &odo (21 5 FArE'SH Js'D)

The presence of an extra copy of the g material on 18 chromosome either in
whole (Trisomy 18) or in part (due t locations)

18 5 g oddY ¥ ﬁ@lS&S F3rE' D Jom 50 (B¥rw 18) S
FEEom  (FT0dY ;33*'6@) &oddo S0 DoPDod

Question Number : 74 Question Id : 7512365674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following:
Set -1 Set - 11
A) Coacervate theory George Cuvier

B) Theory of Catastrophism Louis Pasteur

S B8

C) Theory of Biogenesis Plato
D) Theory of Abiogenesis Lamarck
AL Oparin

08 A 2BHBBOTLIW.

S5 -1 588 -1
A) FIT&S P odo D 2§ S0
B) @¥odéss R0 II) WQQ#-@E
C) 28372309 Erodo ) &
D) otirdaﬂgé Q) P80 x‘l‘:&rsb

@ AL 205
O

The correct match 1s é
500 S8 Qj

Options : ‘@

& B £ b
I I m
A B 2 D
, I NV m V
A B € D
s N T W0
A B €& D
3 1 1T 3

Question Number : 75 Question Id : 7512365675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
collegedumas
° - India’s largest Student Review Platform
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[dentify the correct factors with reference to Neo-Darwinism

A Reproductive 1solation
B. Genetic recombination
C. Struggle for existance
D.

Natural selection

QBT OIAR0NE Doofon) SV s7isrod Hiodod.
A PEE D388
B. 2y IS5:d0Brasren
C. Hdoihs 880 Fordao
D. ©5)85820
Options :

Oy
AB&C N
‘ >

g &

AB&D g
, o_,Q'

3

4

Question Number : 76 Question Id : 75123@ Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Match the following :

A)
B)

C)
D)

Sod

A)

B)
C)
D)

Set-1
Disruptive selection

Directional selection
Stabilizing selection
Bottleneck effect

TR 2SI HAW.
2838 -1
QNG S0

QST o30E S0
%6555‘0 S0
rOEIF (Derdo

The correct match 1s

28308 T°BoY

Options :
A B &
1 I J\Y
A B C
" I I\Y II
A B C
5 \Y I I
A B %
o 3 I il

Question Number : 77 Question Id : 7512365677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

sS88 *

e

S B S8

Set-1I
Lucky survivors after the calamities who are
genetically different from their original population.

Weight of the new born babies in England
DDT resistance in mosquitoes
Darwin’s finches with different shapes of beaks.

o3E -1

w5 - 1l

28)8 INberge SHTE 88, alogddor I8
Sreusyrd IPBoNS odyidHen

ROMoRS” a&&gﬁc‘ﬁ Nerd Do 280
&S DDT 8§ 2 s

@555 & oW @7‘ DI @éaé’aﬂé* Er@8

A

;‘.iwé%m

Single Line Question Option : No Option Orientation : Vertical
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In induced breeding of fish. the agent that 1s mjected into brood fish to induce release of
spawn 1s

DI0S” (W08 PadS SHchos® & 57IER) e Adde Bowowhd 5 wrd BHes D8
02§ I,

Options :
o, - lactalbumin

Ol - 75 a0\aDe
[ ] o)

Ovaprim

PTG

o - Antitrypsin

o - o0&V QNQ
&) ‘\/

3
Propolis é
4 | >PFOS é’

Question Number : 78 Question Id : 7512365678 on Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatio rtical

The main diagnostic app]jc@f Electro Encephalo Graphy (EEG) 1s

Jof ISP Ee (EEG) Gwg), TS dosirmps edsgso

Options :
Myocardial infarction

g ;3:;033‘5190535 '5.153‘5%5

Epilepsy
SR
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Blocks in blood vessels

SETTOS 0 038 g en
3.

Aneurysm

@-:6.?56&53
4.

Question Number : 79 Question Id : 7512365679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Cancer cell exhibits all of the following characteristic features excepit.
5g9)0 Bl & (§od w8 ofmo &0y NNOS vPoipdnod WEB)NOH

Options :
Absence of cadherins )9
34,8500 Dot q,Q

1 «

Failure of cell cycle regulation OQ,

Seollf QOdo@n ISP é

&
Anchorage dependance
Loid es5rdo &@

=

2.

Damaged apoptosis pathway

Ba8R) Rer¥FTwg Sdoda DPD0
4.

Question Number : 80 Question Id : 7512365680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statement (S) : Gene therapy is the insertion of genes into an individual s cells and tissues
to treat a genetic defect.

Reason (R):  In gene therapy a deleterious mutant allele 1s replaced with a functional
one.

TSP (S): adogE&) (DTeY5 2gHO) I8 FRoE) Segren, S8 HOL BRFS F)
H0[oado.

5800 (R): 23gR84S" FAEEDE &&\0588 cSnfdson) Eoird)8 2dogHs
REsDoTSo0.

The correct answer 1s
DOGDN JArerHEw

Options :
Both (S) and (R) are correct and (R) 1s the corre ‘%nation to (S).
(S), (R) Bodkr 505082, (R) (S)% 30508 6.

&

Both (S) and (R) are correct but (R) 1 a correct explanation to (S).
(S). (R) Bodr S06a05, 570 (R SBGS Ve T

2. Q/
(S) 1s correct but (R) 1s @ect.

(S) 385088, 570 (R) 050858 s~&.

[ - -

(S) 1s not correct but (R) 1s correct.

(S) S8DIE &, 572 (R) S05088.

Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 7512365681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
P collegedunia:
Or= : :
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Match the following statements about fundamental forces.

List-1 List-11
A) Gravitational force Has infinite range and can be both
attractive and repulsive
Weakest force but has infinite range
Strongest among the forces
Responsible for radioactive decay

B) Strong nuclear force
C) Weak nuclear force
D) Electromagnetic force

SB8

P8 e 00D HINS YD ISGIVORN 2SJEWBW.

88 -1 288 -11
A) NS00 D oS08 g 8OAS s8den S00a5w D88
2N
B) 2038 Soids weo ) o8 d:dwew« 5°Q @d0d TrgR O
O
O) 6336;@ SoI88 200 III) a}%ﬁ“ 30 wdg0d OTIH

D) 285805008 20 l@&@-@ag §a5rRE 5°8easn

The correct answer is é
26 HOGS BETGHER ;v'

Options :
A B € D ,@
. N L £ ]
A B C B
" L 3 vV I
A B £ 3B
., I I W
A B € D
s M W 3

Question Number : 82 Question Id : 7512365682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
P collegedunia:
Or= : :
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If the velocity of light °c’. the constant of gravitation ‘G’ and Planck’s constant ‘/” be chosen
as fundamental units. the dimensions of mass in terms of ¢. Gand / 1s

508 Jfo ¢, Hd; Yoroso ‘G Hodddw Fof Joroko NN o STOE RIrerreo
A5NE0T, (BHgor3 éen ¢, G ddin hdTeos®

Options :

WK oh
i

.h’]’é AGH
&

.hy? A G
R

D
WA GH q,Q

4.

Question Number : 83 Question Id : 7512365683 Question Ty
Single Line Question Option : No Option Orientation : Verti

@E Option Shuffling : Yes Display Question Number : Yes

The speed versus time graph of a movi icle 1s shown in the following figure. If “u” 1s
the mitial speed at t=0. v 1s the spee et. ‘a’ 1sthe acceleration and s’ 1s the distance
covered in tiume ‘7", then total zue%O 1s best described using.

(Assume O as origin)

H30808" &) w8 Sl S& So0cw 5Pl o TOR §od HLod” Srdadds. =0
38 TR O & W, 1500 I T & V', 0o ‘@’ HBXw t TS’ BTSN
&r8o ‘s’ @owd, OABC 3wdgo ITergd) §od o8S" TIT &ddomr II00SE™0.

A

' 1B
Speed (m/s)
S& A

> t(s)

5700

R S —

Options :
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vy=u -+ at

1.
E . 2
s=ut+—at
2
-3
"y )
vi=u"+2as
3,
v=ual
4.

Question Number : 84 Question Id : 7512365684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A ball of mass 100 g attached to a string 1s whirled in a horizental circle of radius 1 m and
at a height of 2 m above the ground. The string breaks aft ¢ time and the ball flies off
horizontally and hits the ground after travelling a horizo istance of 10 m. The magnitude
of tension in string before the string breaks was (Let'gls 10 m/s?)

So S0b 2m IS’ 1 magrdorie 86 S8 5BoS” wE So88 DA0DS 100 g
BSgoafeo 208 ASHE o @536::. §]
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A ball 1s thrown in horizontal direction from a height of 80 m with initial speed v,,. The ball
hits the ground with speed 3 v,,. The magnitude of v is (Let g = 9.8 m/s)

a8 20080 80 M Ky Hood V,FOIES’ §8205r088 HIS' V0T, & 208 Jod
3V, 388 Sihendood. V,Hddrmo dend (g=9.8 m/s*m 808 Kdw)
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4

Assertion (A) : When a body at rest break
move in opposite directi

Reason(R):  Conservation of mo

&

B850 (A) : Moo sylMs 58P Dok 515 (ESgohesde So8eom
DEF00059ENS Bods Bo8) 0 5388EBFOS® SIS S8S* BTS00,

580 (R): G553 efgeSoson

0 pieces of equal mass. the two pieces
h same speed.

The correct answer 1s
58@0.‘6 QAT S0

Options :

(A) 1s true but the (R) 1s false.

(A) 386 3850 5 (R) 938 edégsw.
e

Both (A) and (R) are false.

(A) S08c5w (R) en Bodsr edargen.
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Both (A) and (R) are true and (R) 1s the correct explanation of (A).

(A) So08c80 (R) 0 Bodr Sergen Hdciw (R) @386 (A) § 50608 J58e.
3

Both (A) and (R) are true but (R) 1s not correct explanation of (A).

(A) 508050 (R) a0 Bodr devgen 50 (R) @386 (A) 8 S050S Jhden 5.
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Two blocks A and B of mass 3 kg and 5 kg. respectively are connected by a weightless rope
and are kept on a frictionless horizontal plane. The block B 1s pulled to the right. with a
force of 32 N. The tension acting on the rope connecting the block is

s 3 kg 00 SkgEssoane ASboio Bed &a@wdébé S DT EHED
5608 B8EdSr0SS SeoD GodTd. B&&é@g@é& 32 N noos® owha.
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A bomb i1s kept stationary at a point. It suddenly explodes into two fragments of masses
1 kg and 3 kg. The total kinetic energy of the fragments is 6.4 > 10’ J. The kinetic energy of
the smaller fragment is

w8 Do I§ Yo oS wroen, wEFSy™ 1 kg Sodakhn 3 kg (@dgordensio Bok
S0§) o (Rendod. S o Ingo KSud§ 6.4 107 1. DHBw0E), Bws) HS=d§
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The workdone by an applied variable force F = ax + Bx” from x =0 m to x =2 m. where
x is displacement. and constants =1 N/m. =1 N/m’. is

©50508 Séwoo F=ax + Bx’, x=0m &0 x= @cﬁéo DOSI (R x I8
FSoFsn, a=1Nm. f=1 N/m’) ‘»Q
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An object tied to arope of length / = 242 m is allowed to make rotational motion. During
rotation it makes an angle 6 = 45° with the vertical axis shown in figure. The tangential
velocity of the object is (Assume g = 10 m/s?)

1=2\2 m 6580 %S 208005 0. 5539 ESomrHso Dokt 85580 6.
DL0S" Wrdd IFom Fe0d” DHIYE @ SNJ Jh wES' 6 = 45° o
BB, e 39 388D Ik (g=10 /s’ m es8ES50)
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A solid spherical ball rolls down a symunetrical bowl. starting from rest at the top of the left

side (see figure shown). height ‘4" from the bottom. If the left half of the bowl 1s rough and
the right half has no friction. the vertical height the ball will reach on the smooth side 1s
(Assuming ball rolls without slipping in the rough side of the bowl)

DHOPES P 18 PSHTEE 008 FHIISS® ©doib H08 I IKS* IEH3YS feo
D Doty 5008 HHOS® IrHHRT EHE0E. FiF IEH HASH KEETE 60K
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A ball connected to a mass-less spring is executing simple harmonic motion. If K and U are

K
the kinetic energy and potential energy respectively. then the ratio T when the displacement
of the ball 1s one-third the amplitude. will be

E5503 S8 Ryofids $ODS 28 w08 BEETTEE Fossnes BaoHs. K H8cbo
U oo S&0m §8239§ 500500 J82¥EBS, 208 FHE0¥5n T §odS S0W8E* Jrds
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A planet of mass m moves in an elliptical orbit around a star of mass M. The minimum and

maximum distance of the planet from the star 1s d and 4 d respectively. The angular
momentum of the planet relative to the center of the star 1s

mES5oRKL e GHETED, MESgoste S§E50 dhag 6 55156 8556° E6hamHH.
SEESD $08 GHED EAZ S0 KOH Eroren $EHM d Hobaknw 4 d. $EE SoT8
FhHELom SHESTIH Bk, FBaDH BBgIKS00
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m\/§ GMd

£

mJﬁ GMd
3, 3

5
mJ = GMd
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Awire of length L and cross-sectional area A 1s made of a material with Young’s modulus Y.
If the wire 1s stretched by an amount x. the workdone 1s @

O

Y oS0l SHeedole éa'“go‘ﬁooﬁ. FEY La’&%:ﬁocﬁgﬁ&cﬁ ITego Ao 8
SSFH DT . BB X HdSrs0S® F8 200 9

Options : é
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In a large water tank. open to the atmosphere at the top. a small hole 1s made near the
bottom of the tank. The speed of the water ejected depends on

a8 DG o83 ST GI0d0Iw T IE 8D GoR), TR Vi DaDoS® o8
DH dogrd) BoTd. bogo Ho0d Iduen IBSE BHSTES' TAD sFddds.

Options :

Height of the water below the hole
Eoi$Bn (8od TSNS o) B &

&
Acceleration due to gravity C)
Bo8ode Sodea B é
2 Q/v.
Density of water
,{b

, N8 Foss

Pressure at the top surface of water
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Consider a bubble of radius ‘7’ formed inside a liquid with surface tension “y’. For the
bubble to be in equilibrium. the excess pressure outside over that mside 1s

Y Soddgd fo ol YIS0 S'He, T TgTPo feo i Ddbé@éb 20190 Wos0. 208K
:‘3;‘30@?&}:@@* Go8IB508, 2o DESB0 STHO BETAET Jod wHEOT GoBIBL?
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Question Number : 97 Question Id : 7512365697 Quest : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientations: al
A rectangular plate of glass has leu&d breadth 0.3 m and 0.2 m respectively. The glass
plate area 1s changed by 2.1 @“5 m”. if its temperature is increased by 20 K. The
coefficient of linear expansi r the glass 1s

2 BYTHEFSE e So¥ FEH H0000 Ideoyes $ESM 0.3 m Srecko 0.2 m
rardel SPESH 20 K 2odsHd, Sof 3rogesd Seddy 2.16 x 107 m’. mer 34
g8 o Jeod

Options :
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9.4 x 10°K

Question Number : 98 Question Id : 7512365698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A wall is made of three layers A. B. C. The thickness of layers A.B. Care L. 0.7 L, and
0.35 L, respectively. The thermal conductivities of layers A. B. Care K. 0.7 K, and 0.35 K,
respectively. The temperature difference across layer B 1s 20 °C. If the temperature to the
right side of layer C 1s 10 °C. then the temperature to the left side of layer A will be

(Assume thermal conduction to be steady)

o8 %S0 A, B.CoR Surd o 0 0ad. A.BHddin C>do Somren Shdm L,
0.7 L, 508050 0.35L, A, B 508ain C e eiTsriaten S&om K, 0.7 K, 508050
035K, B3 0380 s 860 20 °C. C 28 £83% o8 10 °C wonss', A
DEDH SAES Do ,9
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Options : @i
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50 °C
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A cyclic process on 1 mole of an 1deal gas 1s shown in the figure . The temperatures of the
gas at pomts A and B are respectively 200 K and 400 K. A total of 200 J of heat 1s taken out
from the system in the process. What 1s the work done by the gas in the process B — C?

(LetR=8.3 JK ! mol™)

¥ 3rS BEGHTNIP Ko SEoH HECHD §od DLBNS® SrdTE. A $8csn B
DothHo 3¢ eTEseo S&Hdm 200 K 500ck0 400 K. & HEchs” Ingsw 200 J
SR8 $g5% 008 BoHwsSs. TaknP B = C HEHS® Boso 5 Jend Jod?

(R=83TJTK molrmr &85550)
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During an adiabatic process. the pressure of a gas 1s found to be proportional to the cube of

&

v

. e C .
its absolute temperature. The adiabatic constant (y - _f’) of the gas 1s
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Consider a horizontal string tied at both ends and 1s vibrating in 1ts fundamental mode. The
traveling waves have speed ‘v’. frequency ‘f . amplitude ‘A’ and wavelength ‘A’. The amplitude

A
of the motion at points located at (1) x= 7 (11) my and (111) r from the left end of the

string are. respectively
Boh DI DAcHns (FHE 08S° SodTrodn Do) 8 88z J5r088 So@
H0KHE3oxodw. PoSredoth ddore $& V), FS:Ddgdn 7, oIS Hos ‘A’ Sobosw

_ X o A _
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sither directly away from us or
ecetve 15 10% higher than the
the motion of the star respectively

Consider a star emitting light of frequency /" as itm
directly toward us. If the frequency of the light
frequency of light it 1s emitting. the speed and direggion

are (c is the speed of light) Q,

28 SESS0 Ho$5B008 JrST Ero Ko59% BE 5P SrST SEIEE
f* 28:HSg0 Ko 5083 amsy oo S6KBoBN. P50 Hres 508
DSYBI0 & SYSI0 ST 508 PS50 EoB 10% 8IS, SEE K5

S& H00csn BF¥en SLdm ( & 5°0858)
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0.95 ¢: away from us

0.95 ¢; Ho5d008& Sr8om
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A beam of parallel light rays from a monochromatic source 1s incident on a solid transparent
sphere of radius R and mdex of refraction 2. The point image 1s formed at a distance d from

center. The ratio § will be

o8 béa’;g 5708 2380 08 IAES JIr0EY 5708 8 JHo:aw, Ra‘géﬁgm elelovel
HBHBS g0 2 o FEEHE DIF'EoD D850 Bobdd. F¥o BwE), SoEEHn Sod
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An unpolarized light 1s falling on a glass surface of refractive index 1.73. If the reflected
and refracted rays are perpendicular to each other. then the angle of incidence 1s

eBoS 5708, 1.73 H§LFSS Hedo o mardoo HSSS0 Bokdbod. HoSES So8asw

HEHFSS 88erren wETITEL oo GodIBI08, HES5800 Jewd
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Single Line Question Option : No Option Orientation : Vertical

The radii of spheres A and B are ‘a’ and *b’ respectively. They are at equal electric potential.

If 6, and oz be surface charge density of sphere A and B@ectively. the % 1S
N ’

DD

A 508050 BAtere a‘ga‘ﬁtb"q;em SEHdBm ‘a’ &5%*. Bod Aeren S0A8gs PTICHS

58 S0P, 6,500050 Gge0 $EHm AFE
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A positive charge g 1s fixed at point x =0 and y = 0. and a negative charge —2 g 1s fixed at the
point x = a and y = 0. The potentials at a point on the x-axis where x > a and x >> a.

respectively. are (Assume : = k]
dne

o8 390 ¢ x=0308050 ¥y =0 Dok & So8oho 20730 —2 g x=a J06an
y=058 H08Gbn Ty, »-0fow x> aHddin X >> el oo & PBYcHS
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A rod of resistive material of length L 1s connected to a battery with potential difference

12 V. The resistance per unit length of the rod varies as p(x)=12x Q/m where x is the
distance from one end of the rod. If the current in the resistive rod transfer energy to
thermal energy at the rate of 600 W. then the length of rod will be

AEEEY dorgsnd Bobwd L Fdhfe o8 5§ 12 V 3BIHS Fdo Ko Hoirds
SODTE. £8 Dok, (B8 BSre FEH TS p(x)=12x Q/m  SrEHHB. 7
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In the circuit shown below. ergy dissipated by all the resistors in 2 minutes 1s

Bod Sl S00oS’ Tod ANTeS” ¥ ATEY Jo Sadtgaodosd ¥§

Options :
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2400 J
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Question Number : 109 Question Id : 7512365709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two very long wires carry current 50 A and 100 A and are separated by 20 cm. The magnitude
of the magnetic force acting on 1 cm length of the wire is (Let p, = 47w * 10" Hm™)

Soth @8 DEIS e wETAFEE 20 cm JIonyin SOA &od 50 A Soboin 100 A ©
DS W SR . 88 B, el CMAPEYD ‘é@) ©OI, 08 2OL0Ir S0
(M, =4n x 107 Hm™ i &30855») Q,

Options : «
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50 uN Q/$
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A particle with charge 1.6 * 10~ C is moving with a velocity of magnitude 3 ny/s in uniform
magnetic field of 2 T. The direction of velocity remains perpendicular to the direction of
magnetic field. What 1s the magnitude of net force on the particle?

1.6 x 107 C ss3¥oke 2§ Endn, 2 T 2868 ©oham o8 oS 3 m/s 3K585r008"
Eoenth&B. o Bws), &F ecidr), 08 G HFK wouom™ Gotnod. oo JE6 wo
S05read0 Jog?
Options :

collegedunia

—



, 46x10°N

9.6 x 10° N
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A solenoid with 500 turns of wire is 25 cm long and 1s filled with magnetic material of
succeptibility . The solenoid carries a current of 2.0 A. If the nlae:uetlc field inside the
solenoid is (0.8 ) T. then the magnitude of %, is (Assumey, =47 » 107 Ta/A)

’\

500 5ot Ko 0.8 FBonG 25 M PEH S8 X, SHMD ©o 08 KIS JoDLBI6.
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A metal ring 1s held horizontally and a bar magnet 1s dropped through the ring with its length
along the axis of the ring. The acceleration of the falling magnet is

2.8 S5 Bo8ea N0 88z SSrodson DEQ, 28 BoT DTS ) T FEY Sos
©E0 J028 Gododty SBOTL. SSoES oI 080 BNE), Sc8tn
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independent of the diameter of the ring and length of the magnet
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1€ ‘7 of the ac generator. if the average
1m

In the circuit shown. find the internal resistai
rate at which energy is dissipated in R 1s i
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A laser light beam of 1 MW was focussed to a spot size of an area 10 m”. The rms electric

2
=9><109[Nli1 ])
n

field (in V/m) at the focal point is approximately (Assume -
mE,

L

I MW 826 5708 o) 1079 nga‘ﬂgoﬁ@ ATOTA BT B0 ?@aéu DT . 79 DoY)
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A laser operating at a wavelength of 660 nm and the power 9 milli watt hits a target. How
many number of photons arriving per second at the target? (Let h = 6.6 x 107" J-s)

660 nm SSorBG g0 H¢ HITosw Bed 9 milli watt >SoTgR) 80 o OFgY) G5 E08.
OEgSIN G B8 WENS® B Frd Sopg J0d? (h=6.6 x 107°* J-s m E28580500)

collegedunia

—



3 x 10"

he

6 x 109
2.

3 % 10"
3.

5 x 10
4,

Question Number : 116 Question Id : 7512365716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An energy of 24.6 eV 1s required to remove one of the electrons from a neutral helium
atom. The energy m eV required to remove both the electrons from neutral helrum atom 1s

LY TODNBN HEITeRH0d IBS ¥ Q&@:ﬁoé}@\woﬁw@@ 24.6 eV ¥§ s58%0.
LD OO0 JDEIre0Y Sood Bodd DOETIR0 "‘&SJE@FFD% 500l 8 eV o
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A generalized nuclear fission reaction 1s given by

P i3 XY 4D
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In the table given above the mass number of elementf’i&) and (b) respectively. are
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A p-n junction has a depletion region 8 x 10~ m wide. The intensity of the electric field
inside the depletion region is 2 » 10° V/m. A hole approaches the p-n junction from p-side.
The change in kinetic energy of the hole as it enters the n-side will be

o€ p-Ndod 8x 107 m Ideoyfo BL Foa) §0A &Hd. 8L Fodsn S*He
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A transistor 1s used in common-¢ ode in an amplifier circuit. The base current and

the collector current is change 0 mA and 3 mA respectively when a signal added to
base-emitter voltage. If the v gain 1s 600 and the load resistance 1s 10 k€2. then the
magnitude of signal added to base-emuitter voltage is

o QPP GIE-aT 88 88S° wE P8 Sochdnes' FETH. wf Jose)
SEs0-Bolitrn STRE EODSHE, HE D58 HaEn B JoEsTos IdgS
PaFFo S60m 30 mA 58050 3 MA ™ 5030, @2 58 600 So80sw Y AT ESW
10 kQ e @003, 2830-Sodre Sée&% BODN 3088 HBSrad0 Jend

Options :

i 20mV

40mV
2
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50mV

S0mV

Question Number : 120 Question Id : 7512365720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Inan amplitude modulated signal. if the modulus of minimum voltage. |A__ |=40 and modulus
of maximum voltage. |A__|=60. the percentage modulation 1s

28 §0DS H0NE SrdogBa TS S088I0S", A7 g2 Heasdw |A | =40 Sododn

5

K0h S8 Hekdn |A_ | = 60 wand, SrdgBad: T

o o
q,g,\
. 25 &
g 20 0@
S

Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 7512365721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of radial nodes of 4 p and 4 forbitals respectively. are

4p.4f sdirde BGaHd SGo Sopg SEHdm

Options :

1 (0. 0)

gcollegeduniaa
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(2.0)
2.

g (3;.3)

(0. 3)
4,

Question Number : 122 Question Id : 7512365722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which transition in the He™ spectrum will have the same wavelength as the transition from
n, =1 ton, =2 in Hydrogen atomic spectrum?

He" B’Jgé@oéﬂ% o) JBIGIB00 ?@"‘&5 S8 A0 S’Jﬁdébu@'ﬁé = 1 So0d n, = 2 8
D0JENB DS édoﬁ@_%o G otnod.

Question Number : 123 Question Id : 7512365723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : The ionic radius of Mn®™ is less than that of Cr*".
Reason (R): Mn’" and Cr’*" are isoelectronic.

PS50 (A): M’ woird§ agdrgsn Cr' o8 &8 5m Gotnod.
swmo (R): M’" sk Cr'" $ dogse §0AL3.

The correct answer 1s

éagz_b;s SIS IR b
collegedunia
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Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A).
(A) S08a30 (R) 3ok 8 onsdd 0803w (R), (A)8 &858 eond dHe0.

1.
(A) 1s true but (R) 1s false.
(A) 38 ondd 570 (R) 38 wondd .
2
(A) and (R) are true but (R) 1s not the correct explanation of (A).
(A) 508030 (R) Bod 38 @ondd 570 (R). (A)8 58 eonsd J380 5.
3
(A) 1s false but (R) 1s true.
, (8)36 sons6 w6 5 (R) 50 wowiss. ,9

‘v

Question Number : 124 Question Id : 7512365724 Question Type : Qpﬁnn Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which 1s the correct order of elecﬂm@ﬂhalpy?

QOER Ty 0Ty $8 wow S0 67?

Options :
Cl>F>0>Li
F>0>Cl>Li
F>Cl>0>Li

3.

Li>Cl>0O>F

Question Number : 125 Question Id : 7512365725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
collegedumas
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Consider the O — N — O bond angles in the following species.

808 =>Heoe” O - N — O 2088 ren Adodolod

A) NO®Z
B) NOS
C) NO,

The correct order of the bond angles m A. B and C is
A, B 508050 C 0&° 2088 re $8 wond (Edodw

Options :

O
A<B<C ‘]9’\

1z

B<C<A

_ A<C<B Q,v.
, B<A<C &0_)

Question Number : 126 Question Id : 7512365726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

The hybridization of central atom in +C10‘33 and 'Clof' are respectively

CIOY. CIO? o Bo HE5rend So8688m0 SEdm
Options :
sp” and sp’

sp” S080s0 sp
1

collegedunia
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sp° and sp’
Sp> 508050 Sp°

2.

sp”and sp°

sp® So8as0 sp’
3

sp° and dsp”

sp> S08asw dsp’
4

Question Number : 127 Question Id : 7512365727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical q

Assuming that air 1s a mixture of 78.1% N, and 20.9% Q’hﬂe average molar mass (g mol™)
of air 1s approximately C],

md DEFSInS® 78.1% N, Sodcin 20.9% HED WroER md J0700 Irerd
&S50 gmol ™ ot Bodrdorr é

Options :

78.08 v.
1' 20.9 &@Q/

2,
100
3,
28.56
4,

Question Number : 128 Question Id : 7512365728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia
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What 1s the fraction of the total pressure exerted by H,. if a gas mixture contains equal
mass of H, and O, stored in a container kept at room temperature?

$37% (855073 Ko Hy, 0,050 DoFsed) K6 S 58 o8 PBS* Jog &odS, Indo
D8506* H,Eenid@ds erfo Jod?

Options :
1
1. 8
3
i 17

“' S

Question Number : 129 Question Id : 7512365729 ioa Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatio rtical

Consider the following rea@@

2C0(4) — €0, + €

How much carbon (in g) will be produced if 20 g of CO is reacted completely?

Bob T8g HdoRotod

20 g COFrgm SE3T0bS 08 R (g 0S°) GS8 ©HH0h?

Options :

10.0
1.
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2.

4.28
5
, 200

Question Number : 130 Question Id : 7512365730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Estimate the approximate amount of Co®” and Co®” in weight % respectively in C 0,0,

compound

(atomic weights of Co and O are 58.9 and 16 respectively)

Options :

24.5: 48.9

33.3: 66.6

LN
<
2
h

3.3

Y]

66.6:

Question Number : 131 Question Id : 7512365731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

-

—
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Consider the following thermochemical reactions.

1 1
Hz(g) + c12(g) ——HCl ) -92.3K]

BCly, +3H,0,, —>H,BO,, + 3HC], ) +112.5KJ

B,Hg,) + 6H,0(;) —— 2H;BO, ) + 6H, ) +493.5KJ
using the above reactions. find the

approximate A H° for the following reaction m KJ

B,H,,, +6Cl,,, —>2BCl, , + 6HC] ,

6(g)

§0B BHEFCHS SEse KERoBOs. ,@
1 1 N
~Hyg) + = Clyg) ——HCl ) ~92310 v
BCly .y +3H,0(9 —H;BOy +3‘@) +112.5k7
B,Hy,) +6H,0, —>2H3B02&HE(F | +493.5K]
D WgoD wRARrHoW, @

gob Stgse A H' o sfND o

B,H ) +6Cly ., —2BCly ) +6HC],

6(a

Options :

—-839
1.

92.5
24

137.6

—1489

collegedunia
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Question Number : 132 Question Id : 7512365732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the following reaction.

CH4(g) ¥ C02(.13) = 2C0{3) i 2H-'!(.tz)

if the degree of reaction of CH, and CO, are 20% at equilibrium. what will be the equilibrium
constant? The mitial concentration of CH,. CO,. CO and H, are 4.0 moles each.

§ob SE5e*
CHy sy +CO0y 0y = 2COy +2H,, )

ca;’n@"’ﬁr% S'Jcé CH4. COEEJ $0g BwE), 836 20% @028, éa’n@%e"ﬁ V080 Jod? CH4,
CO,. CO. H, |@rdogf méden 38 .88 4.0 3rdw

e X
85 &q,

2 OQ,

_ 96 @

Question Number : 133 Question Id : 7512365733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If an aqueous solution 1s 5 times alkaline than pure water. the pH of the solution is
approximately (log 5=0.7)

HE A 0B o8 2oEdno 538 578 Jerdo Oh edHond, & TSpo pH Ddedm
(log 5=0.7)

Options :
9.7
3
8.7
2.

collegedunia
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6.9

Question Number : 134 Question Id : 7512365734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are the values of NA and ND 1n the following statement?

“In the crystal structure of ice. each oxygen atom accepts NA hydrogen atoms from the
hydrogen bonded network and donates ND hydrogen atoms to the network™

B08 JDS380eS® NA 506050 ND denden Jdoés?
B0 SYUE AoYSS”, K8 wfims JSrany NA @S Sddrmos @RS

ROTO ToESW Hod (KHirod H8cin NDi@'2s H8hrepesh os s do Iod .

N
The correct answer 1s ‘»Q

56 ©a0S HECTHB0 A

Options : %

. NA=ND=1 @
NA=ND=2 Q/v

2,
&
NA=1 , ND=2 &
3,
NA=2 . ND=
4,

Question Number : 135 Question Id : 7512365735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify the correct statements from the following.

i)  The hydration enthalpy of Li". K™ and Cs™ follows the order Cs™ > K™ > Li"
i1) Be(OH), reacts with NaOH and forms [Be (OH) 4]3‘

11) Aqueous solution of washing soda is basic.

Bo8 TES® S8 wond IR HHBoWos.
i) Li. K S0 Cs™ gf88m Jogd) edoddod Ehdw Cs">K >Li0
ii) Be(OH),. NaOH & $635°06 [Be (OH),]” % Q8ydhiod

1) 2L0 FE 2T II0IL 58 Hewrdo wodood

Options :

1. 11

) N\

A
i, i QQ’

i, i, i \'e
4.
Question Number : 136 Question Id : TSIM Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
(0]

Single Line Question Option : No Option Orientation : Vertical

How many B — OH bonds are present in borax?

S'o§S* ) B - OH 20T QOT)AN?

Options :

4

collegedunia
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Question Number : 137 Question Id : 7512365737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the thermodynamically most stable allotrope of carbon and what 1s the hybridisation
state of C 1n 1t?

GRIBETY 0 (95700 ©RE n}deﬁsoﬁa s rarodddn JB? 308050 T'AS* C Ho¥bE8e

28 Ded?
Options :
Diamond : sp°
85008 ; sp’
A

Graphite : sp°
2 ; sp’

o SRpF

C. i’ &@

Question Number : 138 Question Id : 7512365738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The chemical compound that was earlier used in dry cleaning process 1s

Ao HEBS* Do VW PERS' Foo eITrHoNS SFaDS $A0yFdSo

Options :
tetrachloromethane
Srs’ S SY )

1.

collegedunia
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tetrachloroethylene

JrE o’ adoOs
>

perchloroethane

DEETSBS
2

ethylchloride

RPSETE
4

Question Number : 139 Question Id : 7512365739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find out the correct order of boiling points for the fo@ng compounds

N

§od JdJWore PSS FTe J0FH @ﬁfgk g dod

a) CH,CH,CH,CH,OH éé(,
v

b) CH,CH,CH,CHO
¢) CH,CH,CH,COOH

Options : &

a>b>c

a>c>b
2

c>b>a
i

C>a>b
4.

Question Number : 140 Question Id : 7512365740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
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Which of the following reaction conditions are employed to benzene in the preparation of
Gammaxane?

Doz 8od TEST PR ot ¢HRThHo K58y Sasor S BoSH)80?

Options :

6CL,. Anhyd. AlCl,. dark and cold
6CL,. dge AICL, Q8 Sododn Hed

CL,. Anhyd. AICl,

CL,. dge AlCI,
2.

O

i 3CL.UV.500K Q,\

3H,. N1. heat &

3H,, Ni, 38 QQ’
4_ R

Question Number : 141 Question Id : 7512365741 &Jm Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orie ertical

The product Q of the follouﬁ reactions 1s

Eol BEgL Gr&YH)Bw Q 28?7

2CHI, —3£- P

‘ H-C=N Y
2P red—hot1iron tube > Q
(A& 5708 2HdA"Qo)
Options :

collegedunia
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&
2.

e

[

&
®

- o
4 W

Question Number : 142 Question Id : 7512365742 Question Type: Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vﬂ'ticalo

What 1s the coordination number of an @ a cubic closed pack structure with maximum
packing efficiency? :

w8508 Srddy Frdodgo fo &Q@lﬁj‘“é Erddy QUMdNS” G d) 8800 DDodga%

Qopg Jod?

Options :
6
1
12
2.
8
=
10
4.
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Question Number : 143 Question Id : 7512365743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The vapour pressure of an aqueous solution of fructose 1s 646 mun of Hg at 100 °C. What
1s the mole fraction of water in this solution?

100 °C 58 $§F zoEdnahin odwdso 646 mm Hg ¢$5H8. & @H0od” 38 s

ZPRE0 D0&?

Options :

0.17

0.15 q
‘]9’\
A
& Q,
&,

Question Number : 144 Question Id : 7512365744 Quesﬁt@ﬁ MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation :
Assuming complete 1onization. whd: osmotic pressure of a solution of citric acid of
0.05 molal concentration at 20 °@ssume that the density of the solventis 0.1 gmL ™" and
van't Hoff factor for citric 3(&‘5

J0 IATrBIdN Grods Y 20 °C :5@ 0.05 Sreord s o JEIE @;’Q (ARSI
BT G DBREB50 D0&? 58 Jross 0.1 g mL ™ So8050 |38 @@0 ToST Hoee¥o
4 0 GserothHfod.

Options :
; 480 atm
4.8 atm
2
0.048 atm
3,
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0.48 atm

Question Number : 145 Question Id : 7512365745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A solution of NiSO, 1s electrolyzed for 30 min with a current of 2.5 A. The mass of Niin g
deposited at the cathode is (atomic weight of N1= 58.7)

2.5 A 8otn& NISO, (@de57) 30 ddiren gt BT, 586 3§ IS
N1 (553072 g 0&* (N1 D8Srea0 erdo = 58.7)

Options :

0.171
1.

0.342
-3

O
‘]9’\
A
1.369 OQ,
4 S

Question Number : 146 Question Id : 7512365746 {%&hn Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Oriepntation : Vertical

0.685

For a reaction P — Q + R. & 1ven temperature, when the concentration of “P” 1s
increased by a factor of 10. the rate of the reaction increases by a factor of 100. What 1s
the order of the reaction?

NS SPAS 3& P— Q+R S55ge” “P g 103 oddLond $6g8éw 1003
20h0k. W (BIToED Jod?

Options :

1

collegedunia
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Question Number : 147 Question Id : 7512365747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The following 1s/are not characteristic(s) of enzyme catalysis.

Lock and key mechanism

Enzyme urease catalyses the hydrolysis of urea and other amides.
In general active between pH = 5-7

Uninhibited by inhibitors and Poisons

High specificity

monNnwp

O
808 TES® 0B @m0 whorEm F8o ?i@\
A o605 058y ado BD r::io“gé’)cs‘:{':siw&
A58 oic 00w REY ebo zoa ORFBSNE JOBD @) Tiod
Fordesormr pH = 5-7 S8y @oﬁr@ 0t od
DE S0 H605 a“aéaﬂoje@&ﬁ)s‘&oﬁwécﬂo

[#4]

m O 0 W

ST (A 3’36591#.‘&&5 o0 @

Options : &

, €D

B.C

. AC

B.D

Question Number : 148 Question Id : 7512365748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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. Which of the following enhances the non-wetability of the minerals in sulphide ore during
froth-floatation process?

RIS PIESHESS” :660)5 ARG PATOS'V PIATeD SASBOT Godirds 1Bod S8S
O ot 0H?
Options :

Water pH. maintained by sodium carbonate
&0 5°HRE A8 pH O H088X06

Cresol. a froth stabilizer
D55 EESS, BFS

Sodium ethyl xanthate (frothing agent)
oo RPS Mo (5SS 5°g85w0)

’ q&
Pine oil. a collector é’
e wond, o [T

Question Number : 149 Question Id : TSIZM Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Amongst the hybrides of group 15 elements, the strongest reducing agent 1s

15 |5y Soroste ?@5@6‘ OIS FodoEdn FEEHSW

Options :

s

L
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BiH,

Question Number : 150 Question Id : 7512365750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify A and B respectively in the following reaction

HCIO ;) + P05  — A + By

§od H8ge5* A, B odo $83m K8ood
HCIO‘I—(L&S] -+ PZOS(E;}) —>A(L‘:5) + B(Eﬁ})

Options :

CLO, : HPO, Q,e
' ‘v

CL, : H,PO,

: ClO;3 :H,PO, Q?'
CL0, : HPO, &0_)

Question Number : 151 Question Id : 7512365751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identfy the correct statements from the following.
1)  Potassium manganate 1s diamagnetic and potassium permanganate is paramagnetic.

ii) Both MnO; and MnO2~ have tetrahedral structure.

111) Permanganate oxidizes S,0;3~ to sulphate in basic medium.

iv)  The reaction between acidified KMnO, and I" solution gives MnO,. water and I,

1§08 TES" D0 ®od JITen iowod.

1) PETROD0 SrolIES dade @oﬁ:@%uéé‘ﬁgo §08 0005w réracdo éwéodﬁﬁ
55‘063%0&6.{50 S0b.

1) MHO_ 308050 MI]OZ_ Co&88 B[rmdd oo Sod.
i) §6 rd8os” Hom KRS8 S ol JBYET &858 % D08.

V) w88 KMnO, Soocsn I grdheoo Sody dég & Hodcsn Lo oadyob.

i ii. iv D
i, iii

Question Number : 152 Question Id : 7512365752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The formula for the compound sodium monochloro pentacyano-ferrate (1II) 1s

FBcho IrTEFE DorpF-2BS (III) dFyeso e

Options :

[Na,FeCI(CN), ]

collegedunia
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Na,[FeCI(CN),]

2.

Na, [FeCI(CN),]
3.

Na,Cl[Fe(CN),]
4.

Question Number : 153 Question Id : 7512365753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following monomers can not be used for the cationic polymerisation?

B8 IrTHYS' LASFIE FOBEEGB0SE ﬁﬁ@yﬁsﬁm 28?

Options : '

Vinyl ester ‘»Q
236 286 Q’}
O

Isobutylene é
DR W0JEIOD @v
2.
9

Vinyl ether «
. 226 &88

Styrene

20

&
4

Question Number : 154 Question Id : 7512365754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Match the following amino acids and their one letter codes.

808 NS siross 80w T8 VS Soserod w8IETA.

List-1/zr9e -1 List-1I / ezder- 11
A)  Tryptophan D T

BFIFS
B) Tyrosine om$y w

&S
C) Lysine 1) 16\

555

D) Threonine & b
BBrIS5 @

Q/V’
The correct answer 1s
HOGHS HAPTESI0 &@

Options :
A B € B
D ) d av)

A B € P
(I av) n @

A B € D
. @M O @) @

1 E
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& B € B
O av) ) )

Question Number : 155 Question Id : 7512365755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements are correct?

1)  Shape of the receptor changes after attachment of chemical messenger.

11) Receptor regains its shape after the removal of chemical messenger.

1i1) Chemical messenger gives message to the cell by entering the cell.

iv) Binding of drug at allosteric site of enzyme does not change the shape of the active site.

808 JSEoS® HBGDID IJ?

) SFHS sErTE THEo eHE)S) shas rrdYTso SrdEos.

1) JFoRd ddrard TFrEo SHOIPS sHad @o 80 &9 65 TR Fol&0b.
111) S>oHS JdrTd Foso LH8p0es's 3%&3
V) Q0B B, er:%&g TROG" B0 R0 Horerd oirde TR0 BFE0

SrEs. é
Options :
11, 1v Q}
;
ERTR A

1. 11, 111

V8 VIrTT) Lolod.

Question Number : 156 Question Id : 7512365756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which one of the following is correct for the substitution reaction shown below.

Bod HrLodd WEsHn S Bod TES* BB Londd I&?

CH, | CH, CH,
Cl OH
C,H. HO C,H., C,H,

Options :

Follows second order kinetics
Coda Baros N8s TnQ) FER00 Q
“ N
Proceeds through two-step reaction mcchakm
B0 LoBL WUT°Y TR0 WS 2BNoSe

S

Rate depends upon the concenz‘av of 3H

€]
3o OH mEsD ssc;rm@
L4

Rate depends upon the concentration of both reactants

Béw Bot fairadse mESDH sFddd D
4

Question Number : 157 Question Id : 7512365757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What 1s the major product of the following reaction?
Bod FBges® BEd GEKBwo 62

OH
PDC
CH,Cl,

o

OH

PDC = Pyridinium dichromate (26&053 3§30¢)

Options ) O
(\9’\
A
&
X OH é}
OH Q/V'
&

1 E
collegedunia
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COH

|

Question Number : 158 Question Id : 7512365758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the product formed on reaction of acetone with n-propylmagnesium bromide
followed by hydrolysis?

VS T RS Ddijadhd (F*ES' SIgTod écﬁo;"@awéﬁééw 2EIT Y
€800 26? 6\
Options : :&

el
Z.

P~ 0

/\(I;I\/

R d

Question Number : 159 Question Id : 7512365759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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The product “G™ in the following reaction 1s.
Bod $EgS* A GSHEw “G”
(1) Red P _Cl,

CH,CO,H e
@[/ K . g
(1) H,O

Options :

Fs

©/\002H
c

Question Number : 160 Question Id : 7512365760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Which of the following reactions produce amines?
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